
PROFESSIONAL EXAMINATION BOARD
Group­3 Technical Selection Test 2016

3rd April 2016, 09:00 AM
Topic:­ G3_General Knowledge
1)

Question Stimulus :­

General Knowledge

Which of the following Bollywood celebrity was NOT born in Madhya Pradesh? / इनम७ ऺॕ ोऺनॕमॊ जगत कॕ
ोकऺ ঋोऺĀ က्ঢ कॊ जĀ मĀ ঋदॕष म७ नऻॎ ॠ ॽआ थॊ?

Aamir Khan / आोमर खॊन

Salman khan / ऺलमॊन खॊन

Lata Mangeshkar / लतॊ मॠगॕषकर

Jaya Bhaduri / जयॊ भॊदॏरॎ

Correct Answer :­Aamir Khan / आोमर खॊन 

2)

Question Stimulus :­

General Knowledge

Identify the wrong pair (festival and the city) / गलत जख़ीॕ कख़ पऻचॊन७(Āख़ऻॊर और उऺकॕ षऻर)

Lokrang Festival = Gwalior / लख़करॠग मऻख़Āश =৖ॊोलयर

Akhil Bhartiya Kalidas Samaroh = Ujjain / अ्खल भॊरतॎय कॊोलदॊऺ ऺमॊरख़ऻ =उĀॖन



Akhil Bhartiya Kalidas Samaroh = Ujjain / अ्खल भॊरतॎय कॊोलदॊऺ ऺमॊरख़ऻ =उĀॖन

Bhagoria Haat Festival = Jhabua / भगख़ौरयॊ ऻॊट मऻख़Āश = झबॏआ

Khajuraho Festival = Khajuraho / खजॏरॊऻख़ ॠ मऻख़Āश =खजॏरॊऻख़ ॠ

Correct Answer :­Lokrang Festival = Gwalior / लख़करॠग मऻख़Āश =৖ॊोलयर 

3)

Question Stimulus :­

General Knowledge

Which of the following state does not share its border with Madhya Pradesh? / इनम७ ऺॕ ोकऺ रॊĀ कॎ
ऺॎमॊ मĀ ঋदॕष कॕ ऺॎमॊ कॊ ोऻĀॊ नऻॎ ॠ ऻ॰?

Uttar Pradesh / उĀर ঋदॕष

Chhattisgarh / छĀॎऺगु

Maharashtra / मऻॊरॊĀ३

West Bengal / पोĀम बॠगॊल

Correct Answer :­West Bengal / पोĀम बॠगॊल 

4)

Question Stimulus :­

General Knowledge

Which of the following city served as the capital of the Avanti kingdom during the second wave of
Indian urbanization in the sixth century BCE? / इनम७ ऺॕ कग़न ऺॊ षऻर छठॎ षतॊĀॎ ईऺॊ पॐश१ म७ भॊरतॎय षऻरॎकरण
कॎ दॐ ऺरॎ लऻर कॕ दग़रॊन अशॠतॎ रॊĀ कॎ रॊजधॊनॎ कॕ ॺप म७ कॊय१ ोकयॊ?



कॎ दॐ ऺरॎ लऻर कॕ दग़रॊन अशॠतॎ रॊĀ कॎ रॊजधॊनॎ कॕ ॺप म७ कॊय१ ोकयॊ?

Ujjain / उĀॖन

Dewas / दॕशॊऺ

Ratlam / रतलॊम

Murwara / मॏरशॊरॊ

Correct Answer :­Ujjain / उĀॖन 

5)

Question Stimulus :­

General Knowledge

The state tree of Madhya Pradesh is: / मĀ ঋदॕष कॊ रॊĀ श॑঴ ভॊ ऻॖ?

Sandal / चĀन

Coconut / नॊौरयल

Banyan / बरगद

Mango / आम

Correct Answer :­Banyan / बरगद 

6)

Question Stimulus :­



General Knowledge

Identify the correct chronology of Chief Minister on Madhya Pradesh. / मĀ ঋदॕष कॕ मॏূमॠআॎ क७  ऺऻॎ
कॊलॿम कख़ पऻचॊन७:

Dwarka Prasad Mishra ­ Nareshchandra Singh ­ Prakash Chandra Sethi ­ Kailash
Chandra Joshi / ကॊरकॊ ঋऺॊद ोम঒ॊ ­ नरॕषचॠঈ ो ॠऺऻ – ঋकॊष चॠঈ ऺॕठॎ ­ कॖलॊष चॠঈ जख़षॎ

Nareshchandra Singh ­ Dwarka Prasad Mishra ­ Prakash Chandra Sethi ­ Kailash
Chandra Joshi / नरॕषचॠঈ ो ॠऺऻ ­ ကॊरकॊ ঋऺॊद ोम঒ॊ ­ ঋकॊष चॠঈ ऺॕठॎ ­ कॖलॊष चॠঈ जख़षॎ

Kailash Chandra Joshi ­ Nareshchandra Singh ­ Dwarka Prasad Mishra ­ Prakash
Chandra Sethi / कॖलॊष चॠঈ जख़षॎ ­ नरॕषचॠঈ ो ॠऺऻ ­ ကॊरकॊ ঋऺॊद ोम঒ॊ ­ ঋकॊष चॠঈ ऺॕठॎ

Prakash Chandra Sethi ­ Dwarka Prasad Mishra ­ Nareshchandra Singh ­ Kailash
Chandra Joshi / कॖलॊष चॠঈ जख़षॎ ­ ကॊरकॊ ঋऺॊद ोम঒ॊ ­ नरॕषचॠঈ ो ॠऺऻ – ঋकॊष चॠঈ ऺॕठॎ

Correct Answer :­Dwarka Prasad Mishra ­ Nareshchandra Singh ­ Prakash Chandra Sethi ­ Kailash
Chandra Joshi / ကॊरकॊ ঋऺॊद ोम঒ॊ ­ नरॕषचॠঈ ो ॠऺऻ – ঋकॊष चॠঈ ऺॕठॎ ­ कॖलॊष चॠঈ जख़षॎ 

7)

Question Stimulus :­

General Knowledge

Which of the following is the largest (population) city of Madhya Pradesh? / इनम७ ऺॕ मĀ ঋदॕष कॊ ऺबऺॕ
Āॊदॊ जन ॠऺূॊ शॊलॊ षऻर कग़न ऻॖ?

Bhopal / भख़पॊल

Jabalpur / जबलपॏर

Gwalior / ৖ॊोलयर
Indore / इॠदग़र



Indore / इॠदग़र

Correct Answer :­Indore / इॠदग़र 

8)

Question Stimulus :­

General Knowledge

Which of the following scientist did not contribute in the domain of Modern Physics? / ोनĀोल्खत म७ ऺॕ
ोकऺ शॖĀॊोनक ကॊरॊ आधॏोनक भग़ोतकॎ कॕ ঴ॕআ म७ यख़गदॊन नऻॎ ॠ ोकयॊ गयॊ थॊ:

Max Planck / मॖস ကॊॠक

Peter Higgs / पॎटर ोऻৗ

Albert Einstein / अĀट१ आइॠĀॎन

Dmitri Mendeleev / दोमআॎ म७दॕलॎश

Correct Answer :­Dmitri Mendeleev / दोमআॎ म७दॕलॎश 

9)

Question Stimulus :­

General Knowledge

Because of its geographical location Madhya Pradesh is popularly also known as:­ / मĀ ঋदॕष अपनॎ
भग़गख़ोलक ्Āथोत कॕ कॊरण ऺॊश१जोनक ॺप ऺॕ ोकऺ नॊम ऺॕ जॊनॊ जॊतॊ ऻ॰|

“Head of India” / ”भॊरत कॊ षॎह१”

“Bharatmata” / ”भॊरतमॊतॊ”



“Heart of India” / ”भॊरत कॊ ोदल”

“Mahakoshal” / ”मऻॊकख़षल”

Correct Answer :­“Heart of India” / ”भॊरत कॊ ोदल” 

10)

Question Stimulus :­

General Knowledge

The state animal of Madhya Pradesh is: / मĀ ঋदॕष कॊ रॊĀ पषॏ ভॊ ऻॖ:

Wild buffalo / जॠगलॎ भॖऺ

Snow leopard / ोऻम त७दॏआ

Giant squirrel / ोशषॊल ोगलऻरॎ

Swamp deer / जलमगन ोऻरण

Correct Answer :­Swamp deer / जलमगन ोऻरण 

11)

Question Stimulus :­

General Knowledge

In India, if the area of all states is compared then rank order of Madhya Pradesh is: / भॊरत म७,अगर
ॠऺपॐण१ रॊĀख़ॠ कॎ तॏलनॊ कॎ जॊतॎ ऻॖ तख़ उऺम७ मĀ ঋदॕष कॎ ঒ॕणॎ ॿम ভॊ ऻॖ:  

Second / दॐ ऺरॊ



Third / तॎऺरॊ

Fourth / चग़थॊ

Fifth / पॊॠचशॊॠ

Correct Answer :­Second / दॐ ऺरॊ 

12)

Question Stimulus :­

General Knowledge

The strength of the legislative assembly of Madhya Pradesh is: / मĀ ঋदॕष कॎ ोशधॊन ऺभॊ कॎ ऺदĀ  ॠऺূॊ
ভॊ ऻॖ:

210 / ͙͗͘

220 / ͙͙͗

230 / ͙͚͗

240 / ͙͛͗

Correct Answer :­230 / ͙͚͗ 

13)

Question Stimulus :­

General Knowledge

Official Language of Madhya Pradesh is: / मĀ ঋदॕष कॎ रॊĀ भॊहॊ ভॊ ऻॖ:



Awadhi / अशोध

Hindi / ोऻॠदॎ

Rajasthani / रॊजĀथॊनॎ

Sindhi / ो ॠऺधॎ

Correct Answer :­Hindi / ोऻॠदॎ 

14)

Question Stimulus :­

General Knowledge

The Government of India honored Satyajit Ray with the Bharat Ratna award in 1992 for his
outstanding work in the field of:­ / ͙͘͠͠ म७ ऺĀजॎत रॕ कख़ भॊरत ऺरकॊर ကॊरॊ ঋॊĀ भॊरत रĀ पॏरĀॊर ोकऺ ঴ॕআ म७ उनकॕ
उĀ॑Ā कॊय१ कॕ ोलए ऺĀॊोनत ोकयॊ गयॊ थॊ:­

Politics / रॊजनॎोत

Social work / ऺॊमॊोजक कॊय१

Film making / ोफĀ ोनमॊ१ण

Scientific research / शॖĀॊोनक अनॏ ॠऺधॊन

Correct Answer :­Film making / ोफĀ ोनमॊ१ण 

15)

Question Stimulus :­



General Knowledge

Which of the following Indian national institute has no center in Madhya Pradesh? / ोनĀोल्खत म७ ऺॕ
ोकऺ भॊरतॎय रॊĀ३ ॎय  ॠऺĀथॊन कॊ मĀ ঋदॕष म७ कख़ई क७ ঈ नऻॎ ॠ ऻ॰?

IIT (Indian Institute of Technology) / आईआईटॎ (इॠोडयन इॠ्ĀĀॐट ऑफ टॕনख़लॗजॎ)

IIM (Indian Institute of  Management) / आईआईएम (इॠोडयन इॠ्ĀĀॐट ऑफ मॖनॕजम७ट)

IISER (Indian Institutes of Science Education and Research) / आईआईएऺईआर(इॠोडयन
इॠ्ĀĀॐट ऑफ ऺॊइॠऺ एजॏकॕषन एॠ ड ौरऺच१)

ISI (Indian Statistical Institute) / आईएऺआई (इॠोडयन Āॖोट्Āकल इॠ्ĀĀॐट

Correct Answer :­ISI (Indian Statistical Institute) / आईएऺआई (इॠोडयन Āॖोट्Āकल इॠ्ĀĀॐट 

Topic:­ G3_General Hindi
1)

Question Stimulus :­

Hindi

‘঴ोणक’ षĀ कॊ ोशलख़म ऻख़गॊ­

षॊĀत

ॠऺ঴ॕप

ोशरऻ

঴ॏঈ

Correct Answer :­षॊĀत 



2)

Question Stimulus :­

Hindi

ोनĀोल्खत म७ षॏĀ शॊভ चयन कॎोजए­

शऻ दĀ दॕनॕ यख़৓ ऻॖ

शऻ दĀ कॕ यख़৓ ऻॖ

शऻ दĀ लॕनॕ यख़৓ ऻॖ

शऻ दĀ पॊनॕ यख़৓ ऻॖ

Correct Answer :­शऻ दĀ कॕ यख़৓ ऻॖ 

3)

Question Stimulus :­

Hindi

‘पॊगलपन’ म७ ঋĀय Āॊत कॎोजए­

पॊगल

पॊ

पन

इनम७ ऺॕ कख़ई नऻॎ ॠ



Correct Answer :­पन 

4)

Question Stimulus :­

Hindi

‘ोऻĀॎ ोदशऺ’ कब मनॊयॊ जॊतॊ ऻॖ?

5 ोऺतĀर

14 ोऺतĀर

15 नशĀर

2 अঠॐ बर

Correct Answer :­14 ोऺतĀर 

5)

Question Stimulus :­

Hindi

‘अॠधॊ यॏग’ ोकऺ ঋकॊर कॎ रचनॊ ऻॖ?

उपကॊऺ    

कॊက

नॊटक

कॊက नॊटक



Correct Answer :­कॊက नॊटक 

6)

Question Stimulus :­

Hindi

‘अĀॏ’ कॊ उोचत पयॊ१यशॊचॎ षĀ ऻख़गॊ­

दॕशॎ

जल

मॊतॊ

इĀॎ

Correct Answer :­जल 

7)

Question Stimulus :­

Hindi

नॎचॕ ोलखॕ षĀख़ॠ म७ ऺॕ कग़न ऺॊ षॏĀ षĀ ऻख़गॊ­

ोशĀॊऺ

ोशĀॊऺ

शॎĀॊऺ

ोशĀॊऺ



Correct Answer :­ोशĀॊऺ 

8)

Question Stimulus :­

Hindi

‘इĀॊोद’ म७ कग़न ऺॎ  ॠऺोध ऻख़गॎ­

गॏण  ॠऺोध

यण  ॠऺोध

ोशऺग१  ॠऺोध

श्॑Ā  ॠऺोध

Correct Answer :­यण  ॠऺोध 

9)

Question Stimulus :­

Hindi

‘नॎोत­ोनपॏण’ म७ ऺमॊऺ ऻख़गॊ­

तĀॏॺह

बॽ঍ॎऻॎ

ကĀက

ोကगॏ



Correct Answer :­तĀॏॺह 

10)

Question Stimulus :­

Hindi

ोनĀोल्खत षĀख़ॠ म७ ऺॕ ोभĀ षĀ कॊ चयन कॎोजए­

ऺजॊ

बल

ष्ঢ

ऺॕनॊ

Correct Answer :­ऺजॊ 

11)

Question Stimulus :­

Hindi

ोनरॊषॊ’ म७  ॠऺोध ोशৢॕद ऻख़गॊ­

ोनर + आषॊ

ोनॡ + आषॊ

ोनरॊ + षॊ

उपयॏ१ঢ ऺभॎ ऺऻॎ ऻ॰।



Correct Answer :­ोनॡ + आषॊ 

12)

Question Stimulus :­

Hindi

ोनĀोल्खत म७ कग़न ‘ट’ शग१ नऻॎ ॠ ऻॖ­

ठ

ढ

ण   

श

Correct Answer :­श 

13)

Question Stimulus :­

Hindi

‘पॊपी बॕलनॊ’ मॏऻॊशरॕ कॊ अथ१ ऻख़गॊ­

पॊपी बनॊनॊ

मॏऺॎबत उठॊनॊ

खॊनॊ बनॊनॊ

पतलॎ रख़टॎ बॕलनॊ



Correct Answer :­मॏऺॎबत उठॊनॊ 

14)

Question Stimulus :­

Hindi

ोनĀोल्खत म७ ऺॕ ोकऺ षĀ म७ ‘ोश’ उपऺग१ नऻॎ ॠ ऻॖ­

ोशटप

ोशमॊतॊ

ोशदॕष

ोशऻॎन

Correct Answer :­ोशटप 

15)

Question Stimulus :­

Hindi

अनॕक षĀख़ॠ कॕ ोलए एक षĀ कॊ चयन कॎोजए­

‘लĀॕ कॕषख़ ॠ शॊलॎ नॊरॎ’

कॕोषनॎ

दॎघ१कॕषॎ

लॐजमतॎ
इनम७ ऺॕ कख़ई नऻॎ ॠ



इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­कॕोषनॎ 

Topic:­ G3_General English
1)

Question Stimulus :­

English

Fill in the blank:

She was so _________ that she couldn’t keep her eyes open.

bored

sleepy

rude

unhappy

Correct Answer :­sleepy 

2)

Question Stimulus :­

English

Fill in the blank:

He ______ in front of the altar in the church yesterday.

kneel



is kneeling

kneels

knelt

Correct Answer :­knelt 

3)

Question Stimulus :­

English

Which of the below given words is spelt correctly?

Sufficient

Suficient

Sufficcient

Suficcient

Correct Answer :­Sufficient 

4)

Question Stimulus :­

English

What is the synonym of: dirty

Pure



Filthy

Clean

Unsoiled

Correct Answer :­Filthy 

5)

Question Stimulus :­

English

Fill in the blank:

He studies all the time. He is one of the most _________ students in the class.

happy

sincere

boring

complicated

Correct Answer :­sincere 

6)

Question Stimulus :­

English

Find the odd word out:



Write, scribble, draw, type

Write

Scribble

Draw

Type

Correct Answer :­Type 

7)

Question Stimulus :­

English

Complete the idiom:

She won the competition. Therefore she was on cloud __________.

sky

starts

nine

two

Correct Answer :­nine 

8)

Question Stimulus :­



English

What is the antonym of: lazy

Idle

Active

Slow

Unemployed

Correct Answer :­Active 

9)

Question Stimulus :­

English

Which of the below given words is spelt correctly?

Supres

Supress

Suppress

Suppres

Correct Answer :­Suppress 

10)

Question Stimulus :­



English

Identify the given sentence:

He went through the jungle because he wanted to find the bird.

Imperative

Simple

Compound

Complex

Correct Answer :­Complex 

11)

Question Stimulus :­

English

Identify the given sentence:

She is a really beautiful dancer.

Declarative

Imperative

Interrogative

Exclamatory

Correct Answer :­Declarative 



12)

Question Stimulus :­

English

Find the odd word out:

Easy, simple, complex, uncomplicated

Easy

Simple

Complex

Uncomplicated

Correct Answer :­Complex 

13)

Question Stimulus :­

English

What does the given idiom mean?

Zip your lip.

Keep quiet

Show support

Tease someone



Fight with someone

Correct Answer :­Keep quiet 

14)

Question Stimulus :­

English

Fill in the blank:

It is way too _______ inside. Someone should turn on the lights.

dark

light

bright

shiny

Correct Answer :­dark 

Topic:­ G3_General Maths
1)

Question Stimulus :­

Maths

What is the mean absolute deviation of the numbers: 1, 2, 3, 4 and 5? /  ॠऺূॊयख़ ॠ कॊ पॐण१ ोशचलन कॊ मॊĀ
ভॊ ऻॖ: ͘, ͙, ͚, ͛ और ͜?

1 / ͘



1.2 / ͘.͙

1.3 / ͘.͚

1.25 / ͘.͙͜

Correct Answer :­1.2 / ͘.͙ 

2)

Question Stimulus :­

Maths

If one of the roots of the equation x2 – 3x + p = 0 is 4, what is the value of p? / योद ऺमॎकरण x͙ – ͚x
+ p कॊ एक मॐल ͛ ऻॖ तख़ पॎ(p) कॊ मॊन ভॊ ऻख़गॊ?

4 / ͛

0 / 0

– 2 / ­͙

– 4 / ­͛

Correct Answer :­– 4 / ­͛ 

3)

Question Stimulus :­

Maths

By selling a watch for Rs. 4950, a shopkeeper incurs a loss of 10%. What is the cost price of the
watch for the shopkeeper? / एक घीॎ कख़ ͛͗͜͠ म७ बॕच कर दॐ कॊनदॊर ͗͘% ऻॊोन  उठॊतॊ ऻॖ|तख़ दॐ कॊनदॊर कॕ ोलए घीॎ कॎ
लॊगत कॎमत ভॊ  ऻॖ?



लॊगत कॎमत ভॊ  ऻॖ?

Rs. 5650 / ͗͜͜͝

Rs. 5550 / ͗͜͜͜

Rs. 5500 / ͗͗͜͜

Rs. 5450 / ͛͗͜͜

Correct Answer :­Rs. 5500 / ͗͗͜͜ 

4)

Question Stimulus :­

Maths

Find the area of the parallelogram determined by the vectors i + 2j + 3k and 3i – 2j + k. / ऺमॊनॊॠतर
चतॏभॏ१ज कॊ ঴ॕআफल ोनकॊल७ ोजĀ७ शॖঠर i + ͙j + ͚k  और ͚i – ͙j + k ကॊरॊ ोनधॊ१ौरत ोकयॊ गयॊ ऻॖ|

8 sq units / ͟ ကॊयर मॎ

√48 sq units / √͛͟ ကॊयर मॎ

8√3 sq units / ͟√͚ ကॊयर मॎ

3√8 sq units / ͚√͟ ကॊयर मॎ

Correct Answer :­8√3 sq units / ͟√͚ ကॊयर मॎ 

5)

Question Stimulus :­



Maths

What is the quadratic equation whose roots are (2 +√3) and (2 ­ √3)? / (͙ +√͚) और (͙ ­ √͚) मॐल कॊ
ोကघॊतॎय ऺमॎकरण ভॊ ऻॖ?

x2 – 7x + 7 = 0 / x͙ – ͞x + ͞ = ͗

x2 – 4x + 1 = 0 / x͙ – ͛x + ͘ = ͗

x2 + 4x + 1 = 0 / x͙ + ͛x + ͘ = ͗

x2 – 4x + 7 = 0 / x͙ – ͛x + ͞ = ͗

Correct Answer :­x2 – 4x + 1 = 0 / x͙ – ͛x + ͘ = ͗ 

6)

Question Stimulus :­

Maths

The present ages of Madhu and Puja is in the ratio 2 : 6. After 5 years, the ratio of their ages will be
3 : 4. What is the average of their ages after 10 years from now? / मधॏ और पॐजॊ कॎ शत१मॊन आयॏ कॊ अनॏपॊत
͙:͝ ऻॖ|͜ ऺॊल बॊद,उनकॕ आयॏ कॊ अनॏपॊत ͚:͛ ऻख़गॊ|तख़ अभॎ ऺॕ ͗͘ ऺॊल बॊद उनकॎ औऺतम आयॏ ভॊ ऻख़गॎ?

11 years / ͘͘ ऺॊल

12 years / ͙͘ ऺॊल

13 years / ͚͘ ऺॊल

14 years / ͛͘ ऺॊल



Correct Answer :­12 years / ͙͘ ऺॊल 

7)

Question Stimulus :­

Maths

If P(A) = ¼, P(B) = 2/5 and P(A + B) = ½; find P(AB) / अगर P(A) = ͘/͛, P(B) = ͙/͜ और P(A + B) =
͘/͙ ऻ॰;तख़ P(AB)  ोनकॊल७

1/5 / ͘/͜

3/20 / ͚/͙͗

7/20 / ͞/͙͗

3/5 / ͚/͜

Correct Answer :­3/20 / ͚/͙͗ 

8)

Question Stimulus :­

Maths

If x = 2bt and y = bt2, (t is the parameter and b is any arbitrary constant), what is the value of
dy/dx? / योद x = 2bt और y = bt2 ऻ॰, (t(टॎ) ঋॊचल(पॖरॊमॎटर) ऻॖ  और b(बॎ) कख़ई एकप঴ॎय अचल(आरोबटरॕरॎ कॊॠĀ७ट)
ऻॖ), dy/dx कॊ मॊन ভॊ ऻख़गॊ?

t / t

t2 / t͙



bt / bt

b / b

Correct Answer :­t / t 

9)

Question Stimulus :­

Maths

PQRS is the greatest number of 4 digits which when divided by any of the numbers 6, 9, 12 or 17
leaves a remainder of 2 in each case. What is the value of (P + R)/(Q + S)? / पॎভॐआरएऺ(PQRS) ͛
अॠकख़ ॠ शॊलॎ शऻ ऺबऺॕ बीॎ  ॠऺূॊ ऻॖ ोजऺॕ अगर  ॠऺূॊएॠ  ͝, ͠, ͙͘ यॊ ͘͞ ऺॕ भॊग दॕनॕ पर ऻर बॊर षॕह ͙ ऻॎ ॠ बचतॊ ऻॖ|(P + R)/(Q +
S)कॊ मॊन ोनकॊल७?

18 / ͘͟

18/11 / ͘͟/͘͘

11/18 / ͘͘/͘͟

9/11 / ͠/͘͘

Correct Answer :­18/11 / ͘͟/͘͘ 

10)

Question Stimulus :­

Maths

Due to some technical problem in the machine of his motorbike, Arihant had to decrease the speed
to 75% of the normal speed and hence he was late for work by 2 hrs. What is the normal time

taken by him to reach for his work at the normal speed? / मख़टर ऺॊईकल कॕ पॏजॵ म७ कॏ छ तकोनकॎ खरॊबॎ कॕ



taken by him to reach for his work at the normal speed? / मख़टर ऺॊईकल कॕ पॏजॵ म७ कॏ छ तकोनकॎ खरॊबॎ कॕ
कॊरण, अौरऻॠत  उऺकॎ गोत ऺॊमॊက गोत कॕ ͜͞% तक घटॊतॊ ऻॖ और इऺ तरऻ शऻ अपनॕ कॊम पर ͙ घॠटॕ कॎ दॕरॎ ऺॕ पॽँचतॊ ऻॖ. ऺॊमॊက
गोत ऺॕ अपनॕ कॊय१Āथल तक पॽँचनॕ म७ उऺॕ ऺॊमॊကतयॊ  ोकतनॊ ऺमय लगतॊ ऻॖ?

6 hrs / ͝ घॠटॕ

8 hrs / ͟ घॠटॕ

7 hrs / ͞ घॠटॕ

4 hrs / ͛ घॠटॕ

Correct Answer :­6 hrs / ͝ घॠटॕ 

11)

Question Stimulus :­

Maths

What is the average of the first 6 multiples of 7? \ ͞ कॕ पऻलॕ ͝ गॏणकख़ ॠ कॊ औऺत ভॊ ऻॖ?

21 / ͙͘

28 / ͙͟

24.5 / ͙͛.͜

25 / ͙͜

Correct Answer :­24.5 / ͙͛.͜ 

12)



Question Stimulus :­

Maths

Product A and B cost ₹ 2000 and ₹ 1400 respectively. If the price of A and that of B is increased by
20% and 30% respectively, then what is the price of 1 dozen A and 2 dozen B? / उĀॊद ए(A) और
बॎ(B) कॎ कॎमत ॿमषॡ ॹ. ͙͗͗͗  और ॹ.͛͗͗͘ ऻॖ. अगर ए(A) औरबॎ(B) कॎ कॎमत ॿमषॡ ͙͗% और ͚͗%बु जॊतॎ  ऻॖ, तख़ एक
दज१न ए(a) और ͙ दज१न बॎ(B) कॎ कॎमत ভॊ ऻख़गॎ?

72480 / ͙͛͗͟͞

73840 / ͚͛͗͟͞

71420 / ͙͛͗͘͞

74580 / ͛͗͜͟͞

Correct Answer :­72480 / ͙͛͗͟͞ 

13)

Question Stimulus :­

Maths

The population of a village at time t=0 is 200,000. The rate of increase in the population is 10% per
annum year over year. What will be the population at the start of the third year or at time t = 3? /
ऺमय टॎ(t)=͗ म७ गॊँश कॎ जन ॠऺূॊ ͙͗͗,͗͗͗ ऻ॰|जन ॠऺূॊ कॎ दर म७ श्॑Ā ऺॊलॊनॊ 10% ঋोत शह१ ऻख़तॎ ऻॖ| तॎऺरॕ शह१ कॎ षॏॹआत म७
यॊ ऺमय टॎ=͚ म७ जन ॠऺূॊ दर ভॊ ऻख़गॎ?

121000 / ͙͗͗͗͘͘

242000 / ͙͙͛͗͗͗

133000 / ͚͚͗͗͗͘



266000 / ͙͗͗͗͝͝

Correct Answer :­242000 / ͙͙͛͗͗͗ 

14)

Question Stimulus :­

Maths

ABCD is a square of side ‘a’ cm. Its side is increased by 30%. What is the change in its area? /
एबॎऺॎडॎ (ABCD) एक शग१ ऻॖ ोजऺकॎ भॏजॊ ‘ए(a)’ ऺॕमॎ ऻॖ|योद इऺकॎ एक भॏजॊ कख़ ͚͗% बुॊ द७ तख़ उऺकॕ ঴ॕআफल म७ ভॊ बदलॊश
आयॕगॊ?

60% / ͗͝%

62.5% / ͙͝.͜%

63% / ͚͝%

69% / ͝͠%

Correct Answer :­69% / ͝͠% 

Topic:­ G3_General Reasoning
1)

Question Stimulus :­

Reasoning

If in a Four Digit number, the sum of the first two digits is equal to that of the last two digits and
the sum of the first and last digits is equal to the third digit when the sum of the fourth and the
second digits is twice the sum of other two digits, then the third digit of the number shall be / योद
एक चॊर अॠकख़ ॠ कॎ  ॠऺূॊ म७, पऻलॕ दख़ अॠकख़ ॠ कॊ यख़ग अॠोतम दख़ अॠकख़ ॠ कॕ यख़ग कॕ बरॊबर ऻख़ और पऻलॕ और अॠोतम अॠकख़ ॠ कॊ यख़ग तॎऺरॕ

अॠक कॕ बरॊबर ऻख़ और जबोक चग़थॕ और दॐ ऺरॕ अॠकख़ ॠ कॊ यख़ग अက दख़ अॠकख़ ॠ कॕ यख़ग कॊ दख़गॏनॊ ऻख़ तख़ इऺ  ॠऺূॊ कॊ तॎऺरॊ अॠक ऻख़गॊ:



अॠक कॕ बरॊबर ऻख़ और जबोक चग़थॕ और दॐ ऺरॕ अॠकख़ ॠ कॊ यख़ग अက दख़ अॠकख़ ॠ कॕ यख़ग कॊ दख़गॏनॊ ऻख़ तख़ इऺ  ॠऺূॊ कॊ तॎऺरॊ अॠक ऻख़गॊ:

8 / ͟

4 / ͛

1 / ͘

5 / ͜

Correct Answer :­5 / ͜ 

2)

Question Stimulus :­

Reasoning

Looking at the person standing in front of her, Falguni said, “That person’s son’s sister is the
daughter of my husband”. How is Falguni related to that person / अपनॕ ऺॊमनॕ खीॕ က्ঢ कॎ ओर दॕखतॕ ॽए
फॊĀॏनॎ नॕ कऻॊ, “इऺ က्ঢ कॕ पॏআ कॎ बऻन मॕरॕ पोत कॎ पॏআॎ ऻ॰”। फॊĀॏनॎ उऺ က्ঢ ऺॕ ोकऺ ঋकॊर ऺĀॠोधत ऻॖ?

Wife / पĀॎ

Mother / मॊँ

Sister /  बऻन

Daughter / पॏআॎ

Correct Answer :­Wife / पĀॎ 

3)



Question Stimulus :­

Reasoning

Read the following information and answer the question that follows/ ोनĀोल्खत  ॐऺचनॊ कख़ प ७ु और उन पर
आधॊौरत ঋĀख़ ॠ कॕ उĀर द७:

Five National level Table Tennis Players named Amar, Akbar, Anthony, Arvinder and Arihant own a
Table Tennis Racket made by different manufacturing Companies named Sporty, Sportus, Sporting,
Sporotel and Sporter, each of which is of a different colour, namely, Green, Yellow, Red, Black and
Blue.  / पॊॠच रॊĀ३ ॎय Āर कॕ टॕबल टॕोनऺ ्खलॊीॎ ोजनकॕ नॊम अमर, अकबर, अॠथख़नॎ, अरोशॠदर और अौरऻॠत ऻ॰, कॏ छ टॕबल टॕोनऺ
रॖकॕटख़ ॠ कॕ मॊोलक ऻ॰ जख़ ोक ोशोभĀ ोनमॊ१ण कॠ पोनयख़ ॠ Āख़ट५, Āख़रटऺ, Āख़ोट४ग, Āख़रटॕल और Āख़ट१र ကॊरॊ बनॊयॕ गए ऻ॰, इनम७ ऺॕ ঋĀॕक
कॊ रॠग ोभĀ ऻॖ; ॿमषॡ ऻरॊ, पॎलॊ, लॊल, कॊलॊ और नॎलॊ।

It is also known that / यऻ भॎ Āॊत ऻॖ ोक:

Amar’s Racket isn’t made by Sportus Company nor is it Yellow in Colour / अमर कॊ रॖकॕट न तख़ Āख़रटऺ
कॠ पनॎ ကॊरॊ बनॊयॊ गयॊ ऻॖ न ऻॎ यऻ पॎलॊ ऻॖ;

Akbar’s Racket is Yellow but not made by Sporter / अकबर कॊ रॖकॕट पॎलॊ ऻॖ लॕोकन Āख़ट१र ကॊरॊ नऻॎ ॠ बनॊयॊ गयॊ ऻॖ;

Arihant’s Racket isn’t made by Sporotel nor is it coloured Red / अौरऻॠत कॊ रॖकॕट न तख़ Āख़रख़टॕल ကॊरॊ बनॊयॊ
गयॊ ऻॖ न ऻॎ यऻ लॊल रॠग कॊ ऻॖ;

Akbar’s Racket is made by Sportus but isn’t Black in Colour; & / अकबर कॊ रॖकॕट Āख़रटऺ ကॊरॊ बनॊयॊ गयॊ ऻॖ
लॕोकन यऻ कॊलॕ रॠग कॊ नऻॎ ॠ ऻॖ; और

Arvinder’s Racket is not made by Sporting Company and is coloured Black / अरोशॠदर कॊ रॖकॕट Āख़ोट४ग
कॠ पनॎ ကॊरॊ नऻॎ ॠ बनॊयॊ गयॊ ऻॖ और यऻ कॊलॕ रॠग कॊ ऻॖ

Now answer / अब उĀर द७:

If Arihant’s Racket is made by Sporter, then most likely it is coloured / योद अौरऻॠत कॊ रॖकॕट Āख़ट१र ကॊरॊ
बनॊयॊ गयॊ ऻख़ तख़ इऺकॕ ोनĀोल्खत रॠग कॕ ऻख़नॕ कॎ ऺबऺॕ अोधक ऺĀॊशनॊ ऻॖ:

Red / लॊल



Black / कॊलॊ

Blue / नॎलॊ

Green / ऻरॊ

Correct Answer :­Blue / नॎलॊ 

4)

Question Stimulus :­

Reasoning

Vinay was born on the same day on which India got her Independence, though not in the same
year. In the year 2006, Vinay celebrated his birthday on a Tuesday. Which year shall his Birthday
again fall on a Tuesday / ोशनय उऺॎ ोदन पॖदॊ ॽआ ोजऺ ोदन भॊरत कख़ Āतॠআतॊ ोमलॎ, ऻॊलॊँोक Āतॠআतॊ कॕ शह१ म७ नऻॎ ॠ। शह१
͙͗͗͝ म७, ोशनय नॕ अपनॊ जĀ ोदन मॠगल शॊर कख़ मनॊयॊ तख़ ोकऺ शह१ म७ उऺकॊ जĀ ोदन पॏनॡ मॠगल शॊर कख़ पीॕगॊ?

2017 / ͙͗͘͞

2013 / ͙͚͗͘

2016 / ͙͗͘͝

2014 / ͙͗͛͘

Correct Answer :­2017 / ͙͗͘͞ 

5)

Question Stimulus :­

Reasoning

Box Office Performance of Films of Amitabh and Abhishek / अोमतॊभ और अोभहॕक कॎ ोफĀख़ॠ कॕ बॗস ऑोफऺ



Box Office Performance of Films of Amitabh and Abhishek / अोमतॊभ और अोभहॕक कॎ ोफĀख़ॠ कॕ बॗস ऑोफऺ
ঋदष१न

Given is the Box Office performance of two Bollywood actors, Amitabh and Abhishek in %age
terms. If overall Abhishek has acted in 40 Films and Amitabh in 60 films respectively, find out the
approximate difference in the number of films that Amitabh has acted in as compared to Abhishek
which have done Average business at the Box Office. / दख़ बॗलॎशॏड अोभनॕतॊओॠ अोमतॊभ और अोभहॕक कॕ बॗস
ऑोफऺ ঋदष१न % म७ ोदए गए ऻ॰। योद कॏ ल ोमलॊकर अोभहॕक और अोमतॊभ नॕ ॿमष: 40 ोफĀख़ॠ और 60 ोफĀख़ॠ म७ अोभनय ोकयॊ
ऻख़, तख़ अोमतॊभ कॕ ကॊरॊ अोभनॎत ोफĀख़ॠ और अोभहॕक कॕ ကॊरॊ अोभनॎत ोफĀख़ॠ लगभग अॠतर कॊ पतॊ लगॊय७ ोजननॕ ोक बॗস ऑोफऺ
पर औऺत कॊरख़बॊर ोकयॊ ऻख़।

38 / ͚͟

18 / ͘͟

20 / ͙͗

63  / ͚͝

Correct Answer :­20 / ͙͗ 

6)



Question Stimulus :­

Reasoning

If all Boxes are Square and all Squares are Rectangular, then which of the following can conclusion
can be surely deduced / योद ऺभॎ बॗস शग१ ऻख़ ॠ और ऺभॎ शग१ आयत ऻख़ ॠ, तख़ ोनĀ म७ ऺॕ कग़न ऺॊ उप ॠऺऻॊर अशĀ ऻॎ ঋॊĀ ोकयॊ
जॊ ऺकतॊ ऻॖ:

Some Squares are Boxes / कॏ छ शग१ बॗস ऻ॰

All Boxes are Rectangular / ऺभॎ बॗস आयतॊकॊर ऻ॰

All Rectangles are Boxes / ऺभॎ आयत बॗস ऻ॰

Some Squares are not Rectangular / कॏ छ शग१ आयत नऻॎ ॠ ऻ॰

Correct Answer :­All Boxes are Rectangular / ऺभॎ बॗস आयतॊकॊर ऻ॰ 

7)

Question Stimulus :­

Reasoning

Raveena is driving when she sees a Vehicle approaching from behind in the rear view mirror of her
car on which the word AMBULANCE is written. What shall be the Fifth Alphabet that she shall be
able to read from Right to Left in her mirror / रशॎनॊ कॊर चलतॕ ॽए अपनॎ कॊर कॕ प॑Ā ĀĀ दप१ण म७ एक शॊऻन कख़
अपनॎ ओर आतॕ ॽए दॕखतॎ ऻॖ ोजऺम७ AMBULANCE षĀ ोलखॊ ॽआ ऻॖ। दप१ण म७ ोदखॊई दॕनॕ शॊलॕ इऺ षĀ कॊ शऻ पॊॠचशॊ षĀ ভॊ
ऻख़गॊ जख़ शऻ दॊय७ ऺॕ बॊएॠ  पुनॕ म७ ऺफल ऻख़गॎ?

A

L

U



N

Correct Answer :­L 

8)

Question Stimulus :­

Reasoning

A cube of side 12 cm is painted red on all faces and cut into smaller cubes each of 3 cm each. What
is the total number of smaller cubes having none of their faces painted / एक ͙͘ ऺॕमॎ कॕ घन कख़ उऺकॕ ऺभॎ
प॑Āख़ ॠ पर लॊल रॠग ऺॕ रॠग गयॊ ऻॖ और इऺॕ ঋĀॕक ͚ ऺॕमॎ कॕ छख़टॕ छख़टॕ घनख़ ॠ म७ कॊट ोदयॊ जॊतॊ ऻॖ। तख़ उन छख़टॕ घनख़ ॠ कॎ कॏ ल  ॠऺূॊ ভॊ
ऻख़गॎ ोजन म७ ऺॕ ोकऺॎ कॕ भॎ प॑Āख़ ॠ कख़ रॠग नऻॎ ॠ गयॊ ऻख़?

8 / ͟

12 / ͙͘

16 / ͘͝

24 / ͙͛

Correct Answer :­8 / ͟ 

9)

Question Stimulus :­

Reasoning

If the sequence of letters of English Alphabets is to be reversed completely, then which letter shall
appear Eighth in the sequence starting from Right side / योद अॠঁॕजॎ शण१मॊलॊ म७ शणॵ कॊ ॿम पॐण१ ॺप ऺॕ पलट
ोदयॊ जॊए, दॊयॎ ॠ ओर ऺॕ ঋॊĀ करनॕ पर कग़न ऺॊ शण१ आठश७ Āथॊन पर आएगॊ?



K

S

I

H

Correct Answer :­H 

10)

Question Stimulus :­

Reasoning

If in a coded language / योद एक कख़ड भॊहॊ म७:

bat is written as cbu bat / कख़ cbu ोलखॊ जॊए

the is written as uif the / कख़ uif ोलखॊ जॊए

zip is written as ajk zip / कख़ ajk ोलखॊ जॊए

then in that language, prevention is better than cure shall be written as / तख़ उऺ भॊहॊ म७ prevention is
better than cure कख़ ভॊ ोलखॊ जॊयॕगॊ:

qsfwfuojop jt cuffsf uibo dvsf

qsfwfoujpo jt cfuufs uibo dvsf

qsfwfuojpo jt cfuufs uibo dvsf

qsfwfoujpo jt cfuusf uibo dvsf  

Correct Answer :­qsfwfoujpo jt cfuufs uibo dvsf 



Correct Answer :­qsfwfoujpo jt cfuufs uibo dvsf 

11)

Question Stimulus :­

Reasoning

If the following numbers are to be rewritten by interchanging the digits in hundreds place in the
tens place and the digits in the tens place in the hundreds place then what shall be the second digit
of the third changed number / योद ोनĀोल्खत  ॠऺূॊ कख़ ऺग़श७ Āथॊन और दऺश७ Āथॊन और दऺश७ Āथॊन कख़ ऺग़श७ Āथॊन कॕ
अॠकख़ ॠ कख़ आपऺ म७ अदल बदल कर पॏनॡ ोलखॊ जॊनॊ ऻख़ तख़ तॎऺरॎ पौरशोत१त  ॠऺূॊ कॊ दॐ ऺरॊ अॠक ভॊ ऻख़गॊ?

456 789 123 234 567 / ͙͚͙͚͛͛͘͜͟͜͝͞͠͝͞

1 / ͘

2 / ͙

3 / ͚

5 / ͜

Correct Answer :­1 / ͘ 

12)

Question Stimulus :­

Reasoning

Rajat, Ranjeeta, Ravi and Rakesh are to be seated in a row, but Ravi and Rakesh can’t be seated
adjacent to each other, further, Ranjeeta can’t be seated third, then which of the following has to
be false? / रजत, रॠजॎतॊ, रोश और रमॕष कख़ एक पॠ्ঢ म७ बॖठनॕ शॊलॕ ऻ॰, लॕोकन रोश और रॊकॕष एक दॐ ऺरॕ कॕ अगल बगल नऻॎ ॠ बॖठॊयॕ
जॊ ऺकतॕ, इऺकॕ अोतौरঢ, रॠजॎतॊ कख़ तॎऺरॕ Āथॊन पर नऻॎ ॠ बॖठॊयॊ जॊ ऺकतॊ ऻॖ, तख़ ोनĀोल्खत म७ ऺॕ कग़न ऺॊ कथन अऺĀ ऻॖ?

Rajat is in the third place / रजत तॎऺरॕ Āथॊन पर ऻॖ



Rajat is in the third place / रजत तॎऺरॕ Āथॊन पर ऻॖ

Rajat is in the fourth place / रजत चग़थॕ Āथॊन पर ऻॖ

Rajat is in the first place / रजत पऻलॕ Āथॊन पर ऻॖ

Rajat is in the second place / रजत दॐ ऺरॕ Āथॊन पर ऻॖ

Correct Answer :­Rajat is in the first place / रजत पऻलॕ Āथॊन पर ऻॖ 

13)

Question Stimulus :­

Reasoning

Paromita sets out of her house which faces North and starts walking towards East, then she turns
Left. Later on she walks towards her West and after walking for the same time and at the same
speed that she walked eastwards from her house, she stops. / पॊरख़ोमतॊ अपनॕ घर ऺॕ ोनकलतॎ ऻॖ जख़ ोक उĀर
ोदषॊ कॎ ओर खॏलतॊ ऻॖ, शऻ पॐश१ ोदषॊ कॎ ओर चलतॎ ऻॖ, ोफर शऻ अपनॕ बॊएॠ  मॏी जॊतॎ ऻॖ। बॊद म७ शऻ Āयॠ कॎ पोĀम ोदषॊ म७ चलतॎ ऻॖ
और कॏ छ ऺमय उऺॎ गोत ऺॕ ोजऺऺॕ ोक शऻ अपनॕ घर ऺॕ पॐश१ कॎ ओर चलॎ थॎ, चलनॕ कॕ पĀॊत शऻ अॠततॡ ॹक जॊतॎ ऻॖ।

At this point, she shall be located at what direction from her house. / इऺ ोबॠदॏ पर शऻ अपनॕ घर ऺॕ ोकऺ ोदषॊ
म७ उप्Āथत ऻख़गॎ।

South / दो঴ण

West / पोĀम

East / पॐश१

North / उĀर

Correct Answer :­North / उĀर 



14)

Question Stimulus :­

Reasoning

One Pink Pencil, Three Green Pencils and Two Black Pencils are arranged in a straight line, next to
each other in such a way that No two pencils of same colour lie adjacent to one another and also
the pencils at the two far ends of the line are necessarily of different colour. /  एक गॏलॊबॎ प७ोऺल, तॎन ऻरॎ
प७ोऺल और दख़ कॊलॎ प७ोऺलख़ ॠ कख़ एक ऺॎधॎ रॕखॊ म७ ऺमॊयख़ोजत इऺ तरऻ ऺॕ ोकयॊ गयॊ ऻॖ ोक ऺमॊन रॠग कॎ कख़ई भॎ प७ोऺल७ एक दॐ ऺरॕ कॕ
अगल बगल न ऻख़ ॠ और ऺॊथ ऻॎ ऺॊथ दख़ ोकनॊरख़ ॠ कॎ प७ोऺल७ भॎ एकॊग अलग रॠग कॎ ऻॎ ऻख़ ॠ।  

Here, the pencils can be arranged with these conditions in how many different ways / यऻॊँ, प७ोऺल७ इन
षतॵ कॕ ऺॊथ ोकतनॕ ोभĀ तरॎकख़ ॠ ऺॕ ऺमॊयख़ोजत कॎ जॊ ऺकतॎ ऻ॰?

9 / ͠

6 /͝

2 / ͙

4 / ͛

Correct Answer :­6 /͝ 

Topic:­ G3_General Science
1)

Question Stimulus :­

General Science

The process of pollination is helped most by which of the following biotic components? / ोनĀोल्खत म७
ऺॕ कग़न ऺॕ जॖोशक अशयश (घटक) ကॊरॊ परॊगण कॎ ঋोॿयॊ ऺशॊ१ोधक उपक॑त ऻख़तॎ ऻॖ?



Diesel Vehicles / डॎिल शॊऻन

Wind / पशन

Water / जल

Insects / कॎट

Correct Answer :­Insects / कॎट 

2)

Question Stimulus :­

General Science

Gout is caused due to accumulation of: / इऺकॕ  ॠऺचयन कॕ कॊरण  ॠऺोधशॊत (गोठयॊ) ऻख़तॊ ऻॖ:

Urea / यॏौरयॊ

Uric Acid / यॏौरक अĀ

Ammonia / अमख़ोनयॊ

Guanine / गॏआोनन

Correct Answer :­Uric Acid / यॏौरक अĀ 

3)

Question Stimulus :­

General Science

The silkworm is a _______. / रॕषम­कॎट ऻॖ एक ____________|



caterpillar /  ॏऺॠडॎ (इĀॎ)

pupa / षॏक कॎट (Āॐपॊ)

both caterpillar and pupa / उभय  ॏऺॠडॎ (इĀॎ) एशॠ षॏक­कॎट (Āॐपॊ)

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­caterpillar /  ॏऺॠडॎ (इĀॎ) 

4)

Question Stimulus :­

General Science

What is absolute zero on the Celsius scale? / ऺॕ्ကयऺ मॊपदॠड पर परम षॐက ভॊ ऻॖ?

₋ 273 0  / ­͙͚͞0

₋ 373 0 / ­͚͚͞0

273 0 / ͙͚͞0

373 0 / ͚͚͞0

Correct Answer :­₋ 273 0  / ­͙͚͞0 

5)

Question Stimulus :­

General Science



If the cylinder in which gas is stored in vacuum were to suddenly burst, then the temperature of
gas shall: / योद ोकऺॎ ऐऺॕ ोऺोलॠडर (बॕलनॊकॊर पॊআ) म७ आक्Āक ोशĀख़ट ऻख़तॊ ऻॖ ोजऺम७ ोनशॊ१त कॎ ्Āथतॎ म७ गॖऺ भॠडॊौरत ऻख़,
तख़ गॖऺ कॊ तॊपमॊन:

Become Zero / षॐက ऻख़ जॊएगॊ

Increase / शोध१त ऻख़गॊ

Decrease / কॊऺ ऻख़गॊ

Remain Constant / ्Āथर रऻॕगॊ

Correct Answer :­Remain Constant / ्Āथर रऻॕगॊ 

6)

Question Stimulus :­

General Science

Largest ecosystem of the World is: / ोशĀ कॊ ब॑ऻĀम पॊौर्Āथोतकॎ तॠআ ऻॖ:

Lakes / ऺरख़शर

Oceans / मऻॊऺॊगर

Forests / शन

Mountains / पश१त

Correct Answer :­Oceans / मऻॊऺॊगर 

7)



Question Stimulus :­

General Science

Electromagnets are made of soft iron because soft iron has: / शॖद्यॏ ोतक चॏॠबक नमनॎय (नम१) लग़ऻ ऺॕ बनॊयॊ जॊतॊ
ऻॖ ভख़ॠोक नमनॎय लग़ऻ म७ ऻख़तॊ ऻॖ:

High Susceptibility and Low Retentivity / उৡ  ॏऺঁॊĀतॊ (आঁॊोऻतॊ) एशॠ ोनĀ अशधॊरण ঴मतॊ

Low Susceptibility and High Retentivity / ोनĀ  ॏऺঁॊĀतॊ (आঁॊोऻतॊ) एशॠ उৡ अशधॊरण ঴मतॊ

Low Susceptibility and Low Retentivity / ोनĀ  ॏऺঁॊĀतॊ (आঁॊोऻतॊ) एशॠ ोनĀ अशधॊरण ঴मतॊ

High Susceptibility and High Retentivity / उৡ  ॏऺঁॊĀतॊ (आঁॊोऻतॊ) एशॠ उৡ अशधॊरण ঴मतॊ

Correct Answer :­High Susceptibility and Low Retentivity / उৡ  ॏऺঁॊĀतॊ (आঁॊोऻतॊ) एशॠ ोनĀ अशधॊरण ঴मतॊ 

8)

Question Stimulus :­

General Science

The number of electrons emitted by a surface exposed to light Is directly proportional to the: /
ঋकॊष म७ अनॊश॑त (उजॊगर) ोकऺॎ प॑Ā (ऺतऻ) ऺॕ उĀोज१त इलॕঠ३ ॗन कॎ  ॠऺূॊ इऺकॕ आनॏपॊोतक ऻख़तॊ ऻॖ:

Velocity of Light / ঋकॊष कॎ गोत

Frequency of Light / ঋकॊष कॎ आश॑ोĀ

Intensity of Incident Light / पोतत ঋकॊष कॎ तॎ঑तॊ

Wavelength of Light / ঋकॊष कॊ तरॠग दॖ৚१

Correct Answer :­Intensity of Incident Light / पोतत ঋकॊष कॎ तॎ঑तॊ 



9)

Question Stimulus :­

General Science

If the ratio of amplitude of wave is 2:1, then the ratio of maximum and minimum intensity shall be:
/ योद तरॠग कॕ ोशĀॊर कॊ अनॏपॊत ͙: ͘ ऻॖ, तख़ अोधकतम एशॠ ကॐनतम तॎ঑तॊ कॊ अनॏपॊत ऻख़गॊ:

9: 1 / ͠: ͘

1: 4 / ͘: ͛

4: 1 / ͛: ͘

1: 9 / ͘: ͠

Correct Answer :­9: 1 / ͠: ͘ 

10)

Question Stimulus :­

General Science

Chloropicrin is used as: / মख़रख़ोपॿॎन कॊ उपयख़ग इऺ ঋकॊर ऻख़तॊ ऻॖ:

Perfume /  ॏऺग्Ā

Solvent / ঈॊशक (ोशलॊयक)

Anaesthetic / ोनĀॕतक

Tear Gas / अ঒ॏ गॖऺ 



Correct Answer :­Tear Gas / अ঒ॏ गॖऺ  

11)

Question Stimulus :­

General Science

Which of the following is said to be “Stable”? / ोनĀोल्खत म७ ऺॕ ोकऺॕ "्Āथर" मॊनॊ जॊतॊ ऻॖ?

Proton / ঋॊणॏ (ঋख़टख़न)

Neutron / ोनरॊशॕषॊणॏ (ကॐट३ ॗन)

Positron / धनॊशॕषॊणॏ (पॗोिट३ ॗन)

Electron / ोशद्यॏ दणॏ (इलॕঠ३ ॗन)

Correct Answer :­Neutron / ोनरॊशॕषॊणॏ (ကॐट३ ॗन) 

12)

Question Stimulus :­

General Science

Which of the following is NOT a part of the brain ? / ोनĀोल्खत म७ ऺॕ ভॊ म्ĀĀ कॊ अॠष नऻॎ ॠ ऻॖ?

Cerebellum / अनॏम्ĀĀ (पĀम्ĀĀ)

Cortex / म्ĀĀ­आशरण

Pinna / कण१पॊलॎ

Medulla / मĀॊ (अॠतĀथॊ)



Correct Answer :­Pinna / कण१पॊलॎ 

13)

Question Stimulus :­

General Science

Which of the following is NOT a type of screen of Television / ोनĀोल्खत म७ ऺॕ ভॊ दॐ रदष१न (टॕलॎोशिन) शॎ঴क
(मॗोनटर) कॊ एक ঋकॊर नऻॎ ॠ ऻॖ:

CRT / ऺॎआरटॎ

LED / एलईडॎ

VHS / Āॎएचएऺ

LCD / एलऺॎडॎ

Correct Answer :­VHS / Āॎएचएऺ 

14)

Question Stimulus :­

General Science

Metals are good conductors of electricity because they contain: / धॊतॏ ोशद्यॏ त कॕ  ॏऺचॊलक ऻख़तॕ ऻ॰ ভख़ॠोक उनम७
ऻख़तॊ ऻॖ:

Ionic Bonds / आयोनक आबॠध

Free Electrons / मॏঢ ोशद्यॏ दणॏ (इलॕঠ३ ॗन)

Very few valence electrons / अĀĀ  ॠऺयख़जक ोशद्यॏ दणॏ (इलॕঠ३ ॗन)



A network structure / एक  ॠऺजॊल  ॠऺरचनॊ

Correct Answer :­Free Electrons / मॏঢ ोशद्यॏ दणॏ (इलॕঠ३ ॗन) 

Topic:­ G3_General Computer Knowledge
1)

Question Stimulus :­

Computer

ABACUS was first used in: / ोगनतॊरॊ कॊ उपयख़ग ऺश१ঋथम यऻॊँ ॽआ थॊ:

India / भॊरत

China / चॎन

Japan / जॊपॊन

USA / यॐएऺए

Correct Answer :­China / चॎन 

2)

Question Stimulus :­

Computer

What is the capacity of 3.5 inch floppy disk? / ͚.͜ इॠच नमनॎय चोॿकॊ (Āॗपॎ ोडĀ) कॎ ঴मतॊ ोकतनॎ ऻॖ?

2GB / ͙ जॎबॎ

1.44MB / ͘.͛͛ एमबॎ



1.44 GB / ͘.͛͛. जॎबॎ

1.4MB / ͘.͛ एमबॎ

Correct Answer :­1.44MB / ͘.͛͛ एमबॎ 

3)

Question Stimulus :­

Computer

OSI reference model consists of how many layers? / ओएऺआई उĀरण ঋोतमॊन (ौरफरॕĀ मॗडल) ोकतनॕ Āरख़ॠ ऺॕ
ोनोम१त ऻख़तॊ ऻॖ?

7 / ͞

6 / ͝

5 / ͜

4 / ͛

Correct Answer :­7 / ͞ 

4)

Question Stimulus :­

Computer

What is the full form of SMTP? / एऺएमटॎपॎ (SMTP) कॊ ोशĀ॑त ॺप ভॊ ऻॖ?

simple mail transfer protocol / ऺॊमॊက डॊक Āथॊनॊॠतरण ॿमॊचॊर (ो ॠऺपल मॕल ट३ ॊॠऺफर ঋख़टख़कॗल)

simple mail transport protocol / ऺॊमॊက डॊक पौरशऻन ॿमॊचॊर (ो ॠऺपल मॕल ट३ ॊॠऺपख़ट१ ঋख़टख़कॗल)



simple mail transport protocol / ऺॊमॊက डॊक पौरशऻन ॿमॊचॊर (ो ॠऺपल मॕल ट३ ॊॠऺपख़ट१ ঋख़टख़कॗल)

simple mail interrupt protocol / ऺॊमॊက डॊक अशरख़ध ॿमॊचॊर (ो ॠऺपल मॕल इॠटरĀ ঋख़टख़कॗल)

simple mail training protocol / ऺॊमॊက डॊक ঋोष঴ण ॿमॊचॊर (ो ॠऺपल मॕल ट३ ॕ ोनॠग ঋख़टख़कॗल)

Correct Answer :­simple mail transfer protocol / ऺॊमॊက डॊक Āथॊनॊॠतरण ॿमॊचॊर (ो ॠऺपल मॕल ट३ ॊॠऺफर ঋख़टख़कॗल) 

5)

Question Stimulus :­

Computer

What is the full form of DNS? / डॎएनएऺ (DNS) कॊ ोशĀ॑त ॺप ভॊ ऻॖ?

Domain name system / ঋ঴ॕআ नॊम ঋणॊलॎ (डख़मॕन नॕम ोऺĀम)

Domain network system / ঋ঴ॕআ तॠআजॊल ঋणॊलॎ (डख़मॕन नॕटशक१  ोऺĀम)

Dynamic name system / गोतषॎल नॊम ঋणॊलॎ (डॊयनॊोमक नॕम ोऺĀम)

Distributed name system / ोशतौरत नॊम ঋणॊलॎ (ोड्Ā३Āॐटॕड नॕम ोऺĀम)

Correct Answer :­Domain name system / ঋ঴ॕআ नॊम ঋणॊलॎ (डख़मॕन नॕम ोऺĀम) 

6)

Question Stimulus :­

Computer

A Master file contains: / एक ঋधॊन ोमोऺल म७ ऺमॊोशĀ ऻख़तॕ ऻ॰:

Temporary data / अĀथॊयॎ तĀ



Permanent data / Āथॊयॎ तĀ

Both of the above / उपरख़ঢ उभय

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Permanent data / Āथॊयॎ तĀ 

7)

Question Stimulus :­

Computer

What is the full form of VGA? / Āॎजॎए (VGA ) कॊ ोशĀ॑त ॺप ভॊ ऻॖ?

visual graphic display / ĀĀमॊन ोचोআत ঋदष१नॎ (ोशिॏअल ঁॊोूक ोडĀကॕ)

video graphic display / चलोचআ ोचोআत ঋदष१नॎ (शॎोडयख़ ঁॊोूक ोडĀကॕ)

video adapter display / चलोचআ अनॏकॐ लक ঋदष१नॎ (शॎोडयख़ एडॊĀर ोडĀကॕ)

none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­none of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ 

8)

Question Stimulus :­

Computer

In C language, square brackets are used in: / ऺॎ भॊहॊ म७, आयतॊकॊर कख़Āकख़ ॠ कॊ उपयख़ग यऻॊँ ऻख़तॊ ऻॖ:

functions / ঋकॊय१



array / ऺॊरणॎ

files / ोमोऺल

all of the above / उपरख़ঢ ऺभॎ

Correct Answer :­array / ऺॊरणॎ 

9)

Question Stimulus :­

Computer

Which among the following is a formatted input/output statement in C language? / ोनĀोल्खत म७ ऺॕ ভॊ
ऺॎ भॊहॊ म७ एक ঋॊॺपबĀ ोनशॕष/ोनग१म कथन ऻॖ?

printf and scanf / ोঋॠटएफ (printf) एशॠ Āॖनएफ (scanf)

gets and puts / गॕट्ऺ एशॠ पॏट्ऺ

both of the above / उपरख़ঢ उभय

all of the above  / उपरख़ঢ ऺभॎ

Correct Answer :­printf and scanf / ोঋॠटएफ (printf) एशॠ Āॖनएफ (scanf) 

10)

Question Stimulus :­

Computer

Which of the following file organization is the most efficient type of organization? / ोनĀोल्खत म७ ऺॕ
कग़न ऺॊ ोमोऺल ကशĀथॊपन ऺशॊ१ोधक कॊय१঴म ကशĀथॊपन कॊ ঋकॊर ऻॖ?



VASM / Āॎएएऺएम

Sequential / ॿमबĀ

B­tree file / बॎ­श॑঴ ोमोऺल

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Sequential / ॿमबĀ 

11)

Question Stimulus :­

Computer

Which of the following short keys can be used to move the cursor to the end of the document? /
ोनĀोल्खत म७ ऺॕ कग़न ऺॕ लघॏपथ कॏॠ ोजयख़ ॠ कॊ उपयख़ग  ॠऺकॕतक कख़ आलॕख कॕ अॠत म७ लॕ जॊनॕ कॕ ोलए ोकयॊ जॊ ऺकतॊ ऻॖ?

ctrl+End / कॠ ट३ ख़ल + एॠ ड

ctrl+shift / कॠ ट३ ख़ल + ोषĀ

Ctrl+shift+del / कॠ ट३ ख़ल + ोषĀ + डॕल

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­ctrl+End / कॠ ट३ ख़ल + एॠ ड 

12)

Question Stimulus :­

Computer

Which among the following are known as the system threats?/ ोनĀोल्खत म७ ऺॕ ভॊ पौरतॠআ ोशपोĀयॊँ (ोऺĀम



Which among the following are known as the system threats?/ ोनĀोल्खत म७ ऺॕ ভॊ पौरतॠআ ोशपोĀयॊँ (ोऺĀम
ইॕट्ऺ) कऻलॊतॕ ऻ॰?

worms / कॎट (शम१)

virus / ोशहॊणॏ (शॊयरऺ)

Trojans / गॏĀ­यख़Āॊ (ट३ ख़जĀ)

None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­None of the above / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ 

13)

Question Stimulus :­

Computer

Which of the transmission media is the slowest one? / कग़न ऺॊ  ॠऺचॊर मॊĀम ကॐनतम गोत ॠऺपĀ ऻॖ?

optical fiber / ঋकॊोषक तॠतॏ

coaxial cable / ऺमॊ঴ॎय तॊर

twisted pair / ोशक॑त यॏ৒

satellite media / उपঁऻ मॊĀम

Correct Answer :­twisted pair / ोशक॑त यॏ৒ 

14)

Question Stimulus :­



Computer

Which of the following is a common business oriented language? / ोनĀोल्खत म७ ऺॕ ভॊ एक ऺॊधॊरण ကॊपॊर
ोनĀ भॊहॊ (कॗमन ोबिनॕऺ ओौरएॠ टॕड ल॰৖ॕज) ऻॖ?

Cobol / कख़बख़ल

pascal / पॊĀल

Fortran / फख़रट३ ॊन

C / ऺॎ

Correct Answer :­Cobol / कख़बख़ल 

Topic:­ G3_Civil
1)

Question Stimulus :­

Civil

What is the ratio of weight of water to the weight of solids? /  पॊनॎ कॕ शजन ऺॕ ठख़ऺ कॕ शजन कॊ अनॏपॊत ভॊ
ऻॖ?

degree of saturation /  ॠऺत्॑Ā कॕ पौरमॊण 

water content / पॊनॎ कॎ मॊআॊ

void ratio / षॐက अनॏपॊत 

porosity / ऺरॠউतॊ

Correct Answer :­water content / पॊनॎ कॎ मॊআॊ 



2)

Question Stimulus :­

Civil

Approximate ratio of the strength of the cement concrete of 7 days to that of 28 days is / 7 ोदनख़ ॠ कॕ
ऺॎम७ट कॕ कॠ ॿॎट तथॊ 28 ोदनख़ ॠ कॕ ऺॎम७ट कॕ कॠ ॿॎट कॕ ष्ঢ कॊ अनॏमॊोनत अनॏपॊत ভॊ ऻख़गॊ?

0.56

0.85

1

1.15

Correct Answer :­0.56 

3)

Question Stimulus :­

Civil

From the following, how are the Bacteria in sewage? / ोनĀोल्खत म७ ऺॕ, मल­जल म७ बॖঠॎौरयॊ कॖऺॊ ऻख़तॊ ऻॖ?

Anaerobic / अशॊयशॎय

Pathogenic / रख़गजनक

Saprophytic / म॑तख़पजॎशॎ

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ



Correct Answer :­Anaerobic / अशॊयशॎय 

4)

Question Stimulus :­

Civil

The pressure of free ammonia in sewage is detected by / मल­जल म७ मॏĀ अमख़ोनयॊ कॕ दबॊश कॊ पतॊ कॖऺॕ चलतॊ
ऻॖ

boiling / उबॊलनॕ ऺॕ

adding potassium permanganate / पख़टॕोषयम परम॰गनॕट डॊलनॕ ऺॕ 

adding sulphuric acid / ऺĀĀॐौरक अĀ डॊलनॕ ऺॕ 

adding phenol / ोफनख़ल डॊलनॕ ऺॕ

Correct Answer :­boiling / उबॊलनॕ ऺॕ 

5)

Question Stimulus :­

Civil

At what efficiency does a single speed centrifugal pump, feeding a small water supply distribution
system of a block of houses, work at? / घरख़ ॠ कॕ एक Āॗक कॕ एक छख़टॕ ऺॕ पॊनॎ कॎ आपॐोत१ ोशतरण ঋणॊलॎ कॕ ोलए कॊम
करनॕ शॊलॊ एकल गोतक कॕကॊपऺॊरक पĀ ोकऺ ঴मतॊ पर कॊय१ करतॊ ऻॖ?

Maximum efficiency / अोधकतम ঴मतॊ

Minimum efficiency / ကॐनतम द঴तॊ



Reduced efficiency / कम द঴तॊ

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Reduced efficiency / कम द঴तॊ 

6)

Question Stimulus :­

Civil

When ‘L’ is the distance between the axles and ‘R’ is the radius of the curve, then what is the
mechanical widening width? / जब 'एल' अ঴ख़ॠ और बॎच कॎ दॐ रॎ  ऻॖ 'आर', शॿतॊ कॎ ोআĀॊ ऻॖ,  तख़ यॊॠोআक चग़ीॊ करनॕ कॎ
चग़ीॊई 

Correct Answer :­  

7)

Question Stimulus :­



Civil

If the influence factor is 0.005, then the radius of tenth circle for a Newmark’s chart, when it is
divided into 20 sectors will be / योद ঋभॊश कॊरक 0.005, तख़ एक ကॐमॊक१  कॕ चॊट१ कॕ दऺश७ चॿ कॎ ोআĀॊ ोकतनॎ ऻख़गॎ,
जब इऺॕ 20 खॠडख़ ॠ म७ ोशभॊोजत ोकयॊ जॊतॊ ऻॖ

2.54 / 2.54

3.54 / 3.54

unity / एकॊĀकतॊ

infinite / अनॠत

Correct Answer :­infinite / अनॠत 

8)

Question Stimulus :­

Civil

An arch resists the external load by / एक मॕऻरॊब ोकऺकॕ ကॊरॊ बॊऻरॎ भॊर कॊ ोशरख़ध करतॊ ऻॖ

normal load / ऺॊमॊက भॊर 

normal thrust and bending moment / ऺॊमॊက ঋणख़द और बॠकन आघॐण१

bending moment and radial shear / बॠकन आघॐण१ और अरॎय अपॺपण 

normal thrust, radial shear and bending moment / ऺॊमॊက ঋणख़द, अरॎय अपॺपण और बॠकन आघॐण१ 

Correct Answer :­normal thrust, radial shear and bending moment / ऺॊमॊက ঋणख़द, अरॎय अपॺपण और बॠकन आघॐण१  

9)



Question Stimulus :­

Civil

Compared to working stress method of design, to what level is concrete taken by limit state
method? / ोडजॊइन कॕ कॊय१कॊरॎ तကतॊ ोशोध कॎ तॏलनॊ म७,  ऺॎोमत ्Āथोत ोशोध ကॊरॊ ोकऺ Āर तक कॠ ॿॎट कख़ लॕ जॊयॊ जॊतॊ ऻॖ?

a higher stress level /उৡ Āर कॕ तनॊश

a lower stress level / कम Āर कॕ तनॊश

the same stress level / ऺमॊन Āर कॕ तनॊश

sometimes higher but generally lower stress level / कभॎ कभॎ उৡ लॕोकन ऺॊमॊက ॺप ऺॕ कम
तनॊश कॕ Āर

Correct Answer :­a higher stress level /उৡ Āर कॕ तनॊश 

10)

Question Stimulus :­

CANCELLED

Civil

What is the minimum vertical space of the main reinforcement in the R.C.C. beams? / आर.ऺॎ.ऺॎ. बॎम
(धरन) म७ मॏূ  ॏऺĀढॎकरण कॕ ोलए ကॐनतम ऊĀॊ१धर Āथॊन ভॊ ऻॖ?

the diameter of the larger bar or 5 mm more than the nominal maximum size of
coarse aggregate / बीॊ बॊर कॕ ကॊऺ यॊ मख़टॕ ोगĀॎ कॕ नॊममॊআ कॕ अोधकतम आकॊर कॎ तॏलनॊ म७ 5 ोममॎ
अोधक

the diameter of the larger bar or two­third the nominal maximum size of coarse

aggregate / बीॊ बॊर कॕ ကॊऺ यॊ मख़टॕ ोगĀॎ कॕ नॊममॊআ कॕ अोधकतम आकॊर कॎ तॏलनॊ म७ दख़­ोतऻॊई



aggregate / बीॊ बॊर कॕ ကॊऺ यॊ मख़टॕ ोगĀॎ कॕ नॊममॊআ कॕ अोधकतम आकॊर कॎ तॏलनॊ म७ दख़­ोतऻॊई

5 mm more than the diameter of the bar / बॊर कॕ ကॊऺ ऺॕ 5 ोममॎ अोधक

15 mm / 15 ोममॎ

Correct Answer :­the diameter of the larger bar or two­third the nominal maximum size of coarse
aggregate / बीॊ बॊर कॕ ကॊऺ यॊ मख़टॕ ोगĀॎ कॕ नॊममॊআ कॕ अोधकतम आकॊर कॎ तॏलनॊ म७ दख़­ोतऻॊई 

11)

Question Stimulus :­

Civil

What is the specific gravity of sewage? / ऺॎशॕज (गॠदॕ पॊनॎ) कॊ ोशोषĀ गॏॹက ভॊ ऻॖ?

zero / षॐက

slightly less than 1 / 1 ऺॕ थख़ीॊ कम 

equal to 1 / 1 कॕ बरॊबर 

slightly greater than 1 / 1 ऺॕ थख़ीॊ अोधक 

Correct Answer :­slightly greater than 1 / 1 ऺॕ थख़ीॊ अोधक  

12)

Question Stimulus :­

Civil

What is the psychological widening of a pavement on horizontal curve of radius 230 m for rulling
speed 80 kmph? / 80 ोकलख़मॎटर ঋोत घॠटॕ कॎ गोत ऺॕ चलॊनॕ कॕ ोलए 230 मॎटर कॎ ोআĀॊ शॊलॕ ঴ॖोतज शॿ पर एक फॏ टपॊथ कॎ
भग़ोतक चग़ीॊई ভॊ ऻख़गॎ?



भग़ोतक चग़ीॊई ভॊ ऻख़गॎ?

0.455m / 0.455 मॎटर 

0.555m / 0.555 मॎटर

0.186 m / 0.186 मॎटर 

0.136 m / 0.136 मॎटर

Correct Answer :­0.555m / 0.555 मॎटर 

13)

Question Stimulus :­

Civil

What is the moment distribution method best suited for? / आघॐण१ ोशतरण करनॕ कॎ ऺबऺॕ उपयॏঢ ोशोध कग़न  ऻॖ?

in determinate pin jointed truss / पौरोमत ोपन  ॠऺयॏঢ ट३ ॊऺ (क॰ चॎनॏमॊ  ॠऺरचनॊ)

rigid frames / कठख़र ঌॕम 

space frames / Āथॊन ঌॕम 

trussed beam / ट३ ॊऺड (क॰ चॎनॏमॊ) बॎम

Correct Answer :­rigid frames / कठख़र ঌॕम  

14)

Question Stimulus :­

Civil
Humidity is measured by: / आঈ१तॊ कख़ ोकऺऺॕ मॊपॊ जॊतॊ ऻॖ:



Humidity is measured by: / आঈ१तॊ कख़ ोकऺऺॕ मॊपॊ जॊतॊ ऻॖ:

Hydrometer / ऻॊइड३ ख़मॎटर

Hygrometer / आঈ१तॊमॊपॎ

Hyetometer / Āॕटख़मॎटर

Anemometer / एनॎमख़मॎटर

Correct Answer :­Hygrometer / आঈ१तॊमॊपॎ 

15)

Question Stimulus :­

CANCELLED

Civil

The cable for a prestressed concrete simply supported beam subjected to uniformly distributed load
over the entire span should ideally be______________ / ऺॊधॊरण ॺप ऺॕ बॎम ऺॕ ऺऻॊरॊ ोदए गए एक पॐश१­तनॊश कॕ
अधॎन कॠ ॿॎट कॕ ोलए तॊर ऺमॺप तरॎकॕ ऺॕ ोशतौरत ोकए गए भॊर कॕ अधॎन ऻॖ, तब  ॠऺपॐण१ ঋऺॊर कख़ आदष१ ॺप ऺॕ
______________ऻख़नॊ चॊोऻए 

placed at the centre of cross section over the entire span /  ॠऺपॐण१ ঋऺॊर म७ पॊर­अनॏभॊग कॕ
क७ ঈ म७ रखॊ जॊनॊ चॊोऻए 

placed at some eccentricity over the entire span /  ॠऺपॐण१ ঋऺॊर म७ कॏ छ ोशकॕက Āथॊनख़ ॠ म७ रखॊ
जॊनॊ चॊोऻए

varying linearly from the centre of cross section at the ends to maximum
eccentricity at the middle section / ोऺरख़ ॠ पर पॊर अनॏभॊग कॕ क७ ঈ मĀ भॊग म७ अोधकतम ोशकॕက पर
रॖ्खक तरॎकॕ ऺॕ बदलतॕ रऻनॊ चॊोऻए 



parabolic with zero eccentricity at the centre of the span / ঋऺॊर कॕ क७ ঈ म७ षॐက ोशकॕက कॕ
ऺॊथ परशलोयक

Correct Answer :­parabolic with zero eccentricity at the centre of the span / ঋऺॊर कॕ क७ ঈ म७ षॐက ोशकॕက कॕ
ऺॊथ परशलोयक 

16)

Question Stimulus :­

Civil

From the following options what is the necessary condition for the flow to be steady? / ोनĀ ोशकĀख़ॠ म७
ऺॕ ঋशॊऻ कॕ ्Āथर ऻख़नॕ कॕ ोलए आशĀक षत१ ভॊ ऻॖ?

the velocity does not change from place to place / शॕग Āथॊन­Āथॊन पर नऻॎ ॠ बदलतॊ ऻॖ

the velocity is constant at a point with respect to time / शॕग ऺमय कॕ ऺॊथ एक ोबॠदॏ पर ्Āथर
रऻतॊ ऻॖ

the velocity changes at a point with respect to time / ऺमय कॕ ऺॊथ एक ोबॠदॏ पर शॕग पौरशोत१त
ऻख़तॕ रऻतॊ ऻॖ 

none of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ 

Correct Answer :­the velocity is constant at a point with respect to time / शॕग ऺमय कॕ ऺॊथ एक ोबॠदॏ पर
्Āथर रऻतॊ ऻॖ 

17)

Question Stimulus :­

Civil

The optical square is based on the principle of optical / ऑोĀकल शग१ ऑोĀकल कॊ ोऺĀॊॠत ोकऺ पर आधॊौरत ऻॖ



The optical square is based on the principle of optical / ऑोĀकल शग१ ऑोĀकल कॊ ोऺĀॊॠत ोकऺ पर आधॊौरत ऻॖ

reflection / ঋोतोबॠब

refraction / अपशत१न

double reflection  / दख़गॏनॊ परॊशत१न

double refraction / दख़गॏनॊ अपशत१न

Correct Answer :­double reflection  / दख़गॏनॊ परॊशत१न 

18)

Question Stimulus :­

Civil

While designing the pile as a column, what are the end conditions? / Āॐप कॎ यख़जनॊ एक Āॠभ कॕ ॺप म७
बनॊतॕ ऺमय, अॠत कॎ ्Āथोत ভॊ ऻख़गॎ?

both ends hinged / दख़नख़ ॠ ोऺरॊ कĀॕदॊर ऻख़गॊ 

both ends fixed / दख़नख़ ॠ ोऺरॊ ोनयत ऻख़गॊ

one end fixed and other end hinged / एक छख़र ोनयत ऻख़गॊ और दॐ ऺरॕ छख़र कĀॕदॊर ऻख़गॊ

one end fixed and other end free / एक छख़र ोनयत ऻख़गॊ और दॐ ऺरॕ छख़र मॏঢ ऻख़गॊ

Correct Answer :­one end fixed and other end hinged / एक छख़र ोनयत ऻख़गॊ और दॐ ऺरॕ छख़र कĀॕदॊर ऻख़गॊ 

19)

Question Stimulus :­



Civil

The method of levelling used to carry out reconnaissance of area is / ঴ॕআ कॎ पॖमॊइष करनॕ कॕ ोलए उपयख़ग कॎ
जॊनॕ शॊलॎ ऺमतल करनॕ कॎ ोशोध ভॊ ऻॖ

Check levelling / पीतॊल ऺमतलन

Fly levelling / उीन ऺमतलन

Profile levelling / ঋख़फॊइल ऺमतलन

Simple levelling / ऺॊमॊက ऺमतलन

Correct Answer :­Fly levelling / उीन ऺमतलन 

20)

Question Stimulus :­

Civil

For better strength and stability, what are the coarse grained and fine grained soils respectively
compacted as? / बॕऻतर ष्ঢ और ्Āथरतॊ कॕ ोलए, मख़टॕ कणख़ॠ और  ॐऺ঵ कणख़ॠ शॊलॎ ोमĀॎ कख़ ॿमषॡ ोकऺकॕ ॺप म७ जमॊ ोकयॊ
जॊतॊ ऻॖ?

dry of OMC and wet of OMC / ओएमऺॎ कॕ षॏĀ और ओएमऺॎ कॕ नम 

wet of OMC and wet of OMC / ओएमऺॎ कॕ नम और ओएमऺॎ कॕ नम

wet of OMC and dry of OMC / ओएमऺॎ कॕ नम और ओएमऺॎ कॕ षॏĀ

dry of OMC and dry of OMC / ओएमऺॎ कॕ षॏĀ और ओएमऺॎ कॕ षॏĀ

Correct Answer :­dry of OMC and wet of OMC / ओएमऺॎ कॕ षॏĀ और ओएमऺॎ कॕ नम  



21)

Question Stimulus :­

Civil

From the options given below, in which situations, the viscous force is unimportant? / नॎचॕ ोदए गए
ोशकĀख़ॠ म७ ऺॕ, ोकन पौर्Āथोतयख़ ॠ म७, Āॊनतॊ कॊ बल मऻကऻॎन ऻख़ जॊतॊ ऻॖ?

flow of incompressible fluids in closed pipes / बॠद पॊइप म७ अ ॠऺपॎĀ तरल पदॊथ१ कॕ ঋशॊोऻत ऻख़नॕ
पर 

motion of aeroplanes / ऻशॊई जऻॊज कॎ गोत पर

capillary waves is channels / चॖनलख़ ॠ म७ कॕोषकॊ तरॠगख़ ॠ पर

resistance to motion of a ship / एक जऻॊज कॎ गोत कॕ ঋोतरख़ध पर

Correct Answer :­capillary waves is channels / चॖनलख़ ॠ म७ कॕोषकॊ तरॠगख़ ॠ पर 

22)

Question Stimulus :­

Civil

A contour canal is / एक ऺमख़ৡ नऻर ऻॖ

irrigates only on one side / कॕशल एक ऻॎ ओर ो ॠऺचॊई कॕ ोलए उपयॏঢ 

is most suitable in hilly areas / पऻॊीॎ ঴ॕআख़ ॠ म७ ऺबऺॕ अोधक उपयॏঢ ऻॖ

is generally aligned parallel to the contour of the area / आम तग़र पर ঴ॕআ कॕ ऺमख़ৡ कॕ

ऺमॊनॊॠतर  ॠऺरॕ्खत रऻतॊ ऻॖ 



ऺमॊनॊॠतर  ॠऺरॕ्खत रऻतॊ ऻॖ 

All of these / यॕ ऺभॎ

Correct Answer :­All of these / यॕ ऺभॎ 

23)

Question Stimulus :­

Civil

Lining of irrigation channel / ो ॠऺचॊई ঋणॊलॎ कॊ अĀर

increases the water­logging area / जल­जमॊश ঴ॕআ म७ श्॑Ā करतॊ ऻॖ

decreases the water­logging area / जल­जमॊश ঴ॕআ म७ कमॎ करतॊ ऻॖ 

does not change water­logging area / जल­जमॊश ঴ॕআ म७ पौरशत१न नऻॎ ॠ करतॊ ऻॖ 

None of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­decreases the water­logging area / जल­जमॊश ঴ॕআ म७ कमॎ करतॊ ऻॖ  

24)

Question Stimulus :­

Civil

When mild steel conforming to Grade II is to be used with the design details having been worked
out on the basis of Grade I Steel, the area of reinforcement should: / जब ঁॕड II कॕ अनॏकॐ ल ऻĀॕ Āॎल कॊ
उपयख़ग उऺ ोडजॊइन कॕ ऺॊथ ोकयॊ जॊनॊ ोजऺॕ ঁॕड I Āॎल कॕ आधॊर पर तॖयॊर ोकयॊ गयॊ ऻॖ, तब  ॏऺĀढॎकरण कॊ ঴ॕআ ভॊ ऻख़नॊ
चॊोऻए: 



be decreased by 10% / 10% कम ऻख़नॎ चॊोऻए 

be increased by 10% / 10% कॎ श्॑Ā ऻख़नॎ चॊोऻए

be increased by 20% / 20% कॎ श्॑Ā ऻख़नॎ चॊोऻए

remain the same as it is / ऺमॊन बनॕ रऻनॊ चॊोऻए

Correct Answer :­be increased by 10% / 10% कॎ श्॑Ā ऻख़नॎ चॊोऻए 

25)

Question Stimulus :­

Civil

Which elements of a pitched roof industrial steel building primarily resists lateral load parallel to
the ridge? / औĀख़ोगक इĀॊत ोनमॊ१ण म७ ढॊलख़ ॠशॊलॎ छत कॊ कग़न ऺॕ तက मॏূ ॺप ऺॕ मॕी कॕ ऺमॊनॊॠतर पॊĀ१ लख़ड कॊ ोशरख़ध करतॊ
ऻॖ ?

bracings / जख़ीनॕशॊलॊ (঍ॖो ॠऺग)

purlins / षऻतॎर

truss / टॕक (ट३ऺ)                

columns / Āॠभ

Correct Answer :­bracings / जख़ीनॕशॊलॊ (঍ॖो ॠऺग) 

26)

Question Stimulus :­



Civil

What is the approximate value of M 10 grade of concrete? / कॠ ॿॎट कॕ एम 10 ঁॕड कॕ अनॏमॊोनत मॐĀ ভॊ ऻॖ?

1 : 1 : 2 mix / 1 : 1 : 2 ोम঒ण

1 : 3 : 6 mix / 1 : 3 : 6 ोम঒ण

1 : 2 : 4 mix / 1 : 2 : 4 ोम঒ण

1 : 1.5 : 3 mix / 1 : 1.5 : 3 ोम঒ण

Correct Answer :­1 : 3 : 6 mix / 1 : 3 : 6 ोम঒ण 

27)

Question Stimulus :­

Civil

From the following options, which type of valve is provided on the suction pipe in a tube well?
/ ोनĀोल्खत ोशकĀख़ॠ म७ ऺॕ, ोकऺ ঋकॊर कॊ शॊĀ एक नलकॐ प म७ ऺলन पॊइप पर लगॊयॊ जॊतॊ ऻॖ?

Air relief valve / एयर ौरलॎफ शॊĀ

Reflux valve / ौरĀস शॊĀ

Pressure relief valve / ঋॕषर ौरलॎफ शॊĀ  

Sluice valve / ကॐऺ शॊĀ

Correct Answer :­Reflux valve / ौरĀস शॊĀ 

28)



Question Stimulus :­

Civil

A cantilever beam is shown in the figure. What is the moment to be applied at free end for zero
vertical deflection at that point? / ोचআ म७ एक भॏजख़Āख़लक बॎम ोदखॊयॊ गयॊ ऻॖ| उऺ ोबॠदॏ पर मॏঢ ोऺरॕ पर षॐက ऊĀॊ१धर
ोश঴ॕपन कॕ ोलए ोकतनॊ आघॐण१ आरख़ोपत ोकयॊ जॊनॊ चॊोऻए?

9 kNm clockwise / 9 कॕएनएम दो঴णॊशत१ 

9 kNm anti clockwise / 9 कॕएनएम शॊमॊशत१

12 kNm clockwise / 12 कॕएनएम दो঴णॊशत१ 

12 kNm anti clockwise / 12 कॕएनएम शॊमॊशत१

Correct Answer :­12 kNm clockwise / 12 कॕएनएम दो঴णॊशत१  

29)

Question Stimulus :­

Civil

Rise of water table upto the ground surface in case of a cohesionless soil will reduce the ultimate
bearing by approximately by how much? / ऺ ॠऺजनोशऻॎन म॑दॊ कॕ मॊमलॕ म७ भॐ­ऺतऻ तक जल­Āर म७ श्॑Ā कॕ कॊरण
अॠतत: धॊरण करनॕ कॎ ঴मतॊ लगभग ोकतनॎ ঋोतषत कम ऻख़ जॊएगॎ|

10%



25%

50%

75%

Correct Answer :­50% 

30)

Question Stimulus :­

Civil

What is the number of members (n) and number of joints (j) in a perfect frame is given by? / उऺ पॐण१
ঌॕम म७ ऺदĀख़ॠ कॎ  ॠऺূॊ (एन) और जख़ी (जॕ) कॎ  ॠऺূॊ ভॊ ऻख़गॎ, ोजऺॕ ोनĀॊॠोकत  ॐऺআ ကॊरॊ ကঢ ोकयॊ जॊतॊ ऻॖ?

n = 3j – 2

n = 2j – 3

l = 3n – 3

k = 5n – 2

Correct Answer :­n = 2j – 3 

31)

Question Stimulus :­

Civil

From the following options, what does magnetic declination do? / ोनĀोल्खत ोशकĀ म७ ऺॕ, चॏॠबकॎय झॏकॊश
ভॊ करतॊ ऻॖ

removes same at different places / अलग­अलग Āथॊनख़ ॠ पर ऺमॊन कख़ ऻटॊतॊ ऻॖ



removes same at different places / अलग­अलग Āथॊनख़ ॠ पर ऺमॊन कख़ ऻटॊतॊ ऻॖ

varies from place to place / जगऻ जगऻ पर ोभĀ ऻख़तॊ ऻॖ

does not vary with temperature / तॊपमॊन कॕ ऺॊथ बदलतॊ नऻॎ ॠ ऻॖ

None of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­varies from place to place / जगऻ जगऻ पर ोभĀ ऻख़तॊ ऻॖ 

32)

Question Stimulus :­

Civil

The sag correction in surveys is always /ऺश८঴ण म७ ोषोथलतॊ  ॏऺधॊर ऻमॕषॊ ऻख़तॊ ऻॖ

positive / ऺकॊरॊĀक

negative / नकॊरॊĀक

zero / षॐက 

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­negative / नकॊरॊĀक 

33)

Question Stimulus :­

Civil

From the following options which is the correct increasing order of specific surface i.e., surface
area per mass of the given soils. / ोनĀोल्खत ोशकĀख़ॠ म७ ऺॕ ोशोषĀ प॑Ā कॊ ऺऻॎ बुतॊ ॽआ ॿम ভॊ ऻॖ, अथॊ१त, ोदए गए



area per mass of the given soils. / ोनĀोल्खत ोशकĀख़ॠ म७ ऺॕ ोशोषĀ प॑Ā कॊ ऺऻॎ बुतॊ ॽआ ॿम ভॊ ऻॖ, अथॊ१त, ोदए गए
ोमĀॎ कॕ ঋोत ोपॠड कॊ ऺतऻ ঴ॕআफल।

silt, sand, colloids, clay / गॊद, रॕत, कख़लॊइड, ोचकनॎ ोमĀॎ 

sand, silt, clay, colloids / रॕत, गॊद, ोचकनॎ ोमĀॎ, कख़लॊइड

sand, silt, colloids, clay / रॕत, गॊद, कख़लॊइड, ोचकनॎ ोमĀॎ

clay, silt, sand, colloid / ोचकनॎ ोमĀॎ, गॊद, रॕत

Correct Answer :­sand, silt, colloids, clay / रॕत, गॊद, कख़लॊइड, ोचकनॎ ोमĀॎ 

34)

Question Stimulus :­

Civil

What is the Uniformity coefficient of filter sand? / छोनत रॕत कॊ एकॺपतॊ गॏणॊॠक ভॊ ऻॖ?

D50/D5

D50/D10

D60/D5

D60/D10

Correct Answer :­D60/D10 

35)

Question Stimulus :­



Civil

Low temperature during concrete laying______ / कॠ ॿॎट ोबछॊनॕ कॕ दग़रॊन कम तॊपमॊन ऻख़नॕ ऺॕ इऺकॎ _______

increases strength / ष्ঢ बु जॊतॎ ऻॖ

decreases strength  / ष्ঢ कम ऻख़ जॊतॎ ऻॖ

has no effect on strength / ष्ঢ पर कख़ई ঋभॊश नऻॎ ॠ ऻॖ

depends on other factors / अက कॊरकख़ ॠ पर ोनभ१र करतॊ ऻॖ

Correct Answer :­increases strength / ष्ঢ बु जॊतॎ ऻॖ 

36)

Question Stimulus :­

Civil

When both ends of a column are fixed, the crippling load is F. If one end of the column is made free,
the value of crippling load will be changed to / जब एक Āॠभ कॕ दख़नख़ ोऺरॕ ोनयत ऻख़तॕ ऻ॰,  योद गॠभॎर (पॠगॏ करनॕ दॕनॕ
शॊलॊ) भॊर एफ ऻॖ| योद  Āॠभ कॕ एक छख़र कख़ मॏঢ कर ोदयॊ जॊतॊ ऻॖ, तख़ गॠभॎर (पॠगॏ करनॕ दॕनॕ शॊलॊ) भॊर कॊ मॊन ोकतनॊ पौरशोत१त
ऻख़गॊ?

F/4 / एफ/4 

F/2 / एफ/2 

F/16 / एफ/16 

4F / 4 एफ

Correct Answer :­F/16 / एफ/16  



37)

Question Stimulus :­

Civil

Match the following:/ ोनĀोल्खत कॊ ोमलॊन कर७

1
Young
Modulus / Ēंग
Ůȑĭ̾Ĉćĭ गĲĆĭंक

A
Lateral strain to linear strain within
elastic unit / Ůȑĭ̾Ĉ इकĭई कĸ  Đıćē
ēĹ İखक ćनĭę सĸ पĭ Ŋ̫ ćनĭę

2
Poisson’s
ratio / ɚĭसों
कĭ अनĲपĭć

B Stress strain with elastic limit
/ Ůȑĭ̾Ĉ सıđĭ कĸ  Đıćē ćनĭę ĮęकृĮć

3
Bulk Modulus
/ आĒćन
Ůȑĭ̾Ĉćĭ गĲĆĭंक

C
Shear stress to shear strain within
elastic limit / Ůȑĭ̾Ĉ सıđĭ कĸ  Đıćē
अपŝपĆ ŮĮćďल सĸ अपŝपĆ ĮęकृĮć

4

Rigidity
Modulus
/ कठोē
Ůȑĭ̾Ĉćĭ गĲĆĭंक

D

Direct stress to corresponding
volumetric strain / ĮęĚĭल
(आĒćनĮđćıĒ) ćनĭę कĸ  ćĉनĲŝप ŮȑƗ
ćनĭę

 

1­B, 2­A, 3­D, 4­C

1­C, 2­A, 3­D, 4­B

1­C, 2­D, 3­A, 4­B

1­B, 2­D, 3­A, 4­C



Correct Answer :­1­B, 2­A, 3­D, 4­C 

38)

Question Stimulus :­

Civil

The strain energy of a beam is / एक बॎम कॎ ोशक॑ोत ऊजॊ१ ऻख़तॎ ऻॖ

independent of shear force in the beam / बॎम म७ अपॺपण बल ऺॕ Āतॠআ 

independent of bending moment in the beam / बॎम म७ बॠकन आघॐण१ ऺॕ Āतॠআ

same as total potential energy / कॏ ल ्Āथोतज ऊजॊ१ कॕ बरॊबर 

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ 

39)

Question Stimulus :­

Civil

In compass surveying /  कĀॊऺ ऺश८঴ण म७

the direction and lengths of survey line is measured by compass / ऺश८঴ण रॕखॊ कॎ ोदषॊ
और लॠबॊई कॎ मॊप कĀॊऺ ऺॕ कॎ जॊतॎ ऻॖ 

the direction is measured by compass / ोदषॊ कॎ मॊप कĀॊऺ ऺॕ कॎ जॊतॎ ऻॖ

the lengths of survey line is measured by chain or tape / ऺश८঴ण रॕखॊ कॎ लॠबॊई चॕन यॊ टॕप ऺॕ

मॊपॎ जॊतॎ ऻॖ



मॊपॎ जॊतॎ ऻॖ

Both [2] and [3] / दख़नख़ ॠ [2] और [3]

Correct Answer :­Both [2] and [3] / दख़नख़ ॠ [2] और [3] 

40)

Question Stimulus :­

Civil

The traffic volume is equal to / यॊतॊयॊत कॊ घनက ोकऺकॕ बरॊबर ऻख़तॊ ऻॖ

traffic density x traffic speed / यॊतॊयॊत घनက x यॊतॊयॊत कॎ गोत

traffic density/ traffic speed / यॊतॊयॊत घनက/ यॊतॊयॊत कॎ गोत

traffic speed/traffic density / यॊतॊयॊत कॎ गोत / यॊतॊयॊत घनက

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­traffic density x traffic speed / यॊतॊयॊत घनက x यॊतॊयॊत कॎ गोत 

41)

Question Stimulus :­

Civi

Torsion resisting capacity of a given reinforce concrete section / एक ोदए गए ঋबोलत कॠ ॿॎट खॠड कॕ मख़ीनॕ कॕ
मरख़ी ोशरख़ध करनॕ कॎ ঴मतॊ

decreases with decrease in stirrup spacing / रकॊब कॕ Āथॊन म७ कमॎ कॕ ऺॊथ कम ऻख़ जॊतॎ ऻॖ

decreases with increase in longitudinal bars / अनॏदॖĀ१ पĀॎ म७ श्॑Ā ऻख़नॕ पर कम ऻख़ जॊतॎ ऻॖ



decreases with increase in longitudinal bars / अनॏदॖĀ१ पĀॎ म७ श्॑Ā ऻख़नॕ पर कम ऻख़ जॊतॎ ऻॖ

does not depend upon stirrup and longitudinal steels / रकॊब और अनॏदॖĀ१ इĀॊत पर ोनभ१र
नऻॎ ॠ करतॎ ऻॖ

increases with the increase in stirrup and longitudinal steels / रकॊब और अनॏदॖĀ१ Āॎက म७
श्॑Ā कॕ ऺॊथ बु जॊतॎ ऻॖ

Correct Answer :­increases with the increase in stirrup and longitudinal steels / रकॊब और अनॏदॖĀ१ Āॎက
म७ श्॑Ā कॕ ऺॊथ बु जॊतॎ ऻॖ 

42)

Question Stimulus :­

Civil

A moist sample of soil weighs 24 grams in a tin lid. The tin lid above weighs 14 grams. The oven dry
weight of tin and sample is 22 grams. What is the water content of the soil? / नम ोमĀॎ कॕ एक नमॐनॊ कॊ
शजन एक ोटन कॕ ढজन पर 24 ঁॊम ऻख़तॊ ऻॖ।  इऺकॕ ऊपर ोटन कॕ ढজन कॊ शजन 14 ঁॊम ऻॖ।  नमॐनॕ और ोटन कॕ ओशन कॊ षॏĀ
शजन 22 ঁॊम ऻॖ। तख़ ोमĀॎ म७ पॊनॎ कॎ मॊআॊ Āॊत कर७?

15.5%

39.5%

25%

60%

Correct Answer :­25% 

43)



Question Stimulus :­

Civil

The point in the immersed body through which the resultant pressure of the liquid may be taken to
act is known as__________ / ကॊोशत ोपॠड म७ शऻ ोबॠदॏ ोजऺऺॕ ऻख़कर तरल पदॊथ१ कॊ पौरणॊमॎ दबॊश कॊय१ करनॕ कॕ ोलए
ঋयॏঢ ऻख़तॊ ऻॖ, उऺॕ __________ कऻॊ जॊतॊ ऻॖ।

centre of gravity / गॏॹကॊकह१ण कॊ क७ ঈ

centre of buoyancy / उछॊल कॊ क७ ঈ

centre of pressure / दबॊश कॊ क७ ঈ

metacentre / आကशक७ ঈ

Correct Answer :­centre of pressure / दबॊश कॊ क७ ঈ 

44)

Question Stimulus :­

Civil

When a ship moving on seawater enters a river and moves inland, it is expected to / जब एक जऻॊज
ऺमॏঈ ऺॕ नदॎ म७ ঋशॕष करतॊ ऻॖ, तख़ इऺऺॕ अपॕ঴ॊ कॎ जॊतॎ ऻॖ 

rise a little / थख़ीॊ ऊपर उठनॕ कॎ 

sink a little / थख़ीॊ डॐ बनॕ कॎ 

maintain the same level of draft / ऺमॊन तलछट बनॊए रखनॕ कॎ 

rise or fall depending on whether it is made of wood or steel / ऊपर उठनॕ कॎ यॊ डॐ बनॕ कॎ

जख़ इऺ बॊत पर ोनभ१र करतॊ ऻॖ ोक जऻॊज लकीॎ कॊ बनॊ ऻॖ यॊ Āॎल कॊ



जख़ इऺ बॊत पर ोनभ१र करतॊ ऻॖ ोक जऻॊज लकीॎ कॊ बनॊ ऻॖ यॊ Āॎल कॊ

Correct Answer :­sink a little / थख़ीॊ डॐ बनॕ कॎ  

45)

Question Stimulus :­

Civil

how much is the average delta of rice crop? / धॊन कॎ फऺल कॕ ोलए औऺत डॕĀॊ ोकतनॊ ऻख़नॊ चॊोऻए 

30 cm / 30 ऺॕमॎ

60 cm / 60 ऺॕमॎ

120 cm / 120 ऺॕमॎ

150 cm / 150 ऺॕमॎ

Correct Answer :­120 cm / 120 ऺॕमॎ 

46)

Question Stimulus :­

CANCELLED

Civil

The unit hydrograph is the graphical relation between which of the following options? /  इकॊई
जलॊलॕख ोनĀोल्खत ोशकĀख़ॠ म७ ऺॕ ोकऺकॕ मĀ आलॕ्खए  ॠऺबॠध कख़ अोभကঢ करतॊ ऻॖ?

total rainfall and total runoff / कॏ ल शहॊ१ और कॏ ल अपशॊऻ 

total rainfall and the direct runoff / कॏ ल शहॊ१ और ঋĀ঴ अपशॊऻ



total rainfall and the direct runoff / कॏ ल शहॊ१ और ঋĀ঴ अपशॊऻ

effective rainfall and the total runoff / ঋभॊशॎ शहॊ१ और कॏ ल अपशॊऻ 

effective rainfall and the direct runoff / ঋभॊशॎ शहॊ१ और ঋĀ঴ अपशॊऻ

Correct Answer :­effective rainfall and the direct runoff / ঋभॊशॎ शहॊ१ और ঋĀ঴ अपशॊऻ 

47)

Question Stimulus :­

Civil

Killing of tissue from air pollutant is called / शॊयॏ ঋदॐ हकख़ ॠ कॕ कॊरण ऊतकख़ॠ कॕ मरनॕ कॎ घटनॊ कख़ ভॊ कऻॊ जॊतॊ ऻॖ

Necrosis / पौरगलन

Chlorosis / মख़रख़ोऺऺ

Abscission / अपৢॕदन 

Epinasty / एोपनॊĀॎ

Correct Answer :­Necrosis / पौरगलन 

48)

Question Stimulus :­

Civil

The strength of a butt weld is: / एक बट शॕĀ कॎ ष्ঢ ऻॖ:

about 70 to 90 percent of the main member / मॏূ ऺदĀ कॊ लगभग 70 ऺॕ 90 ঋोतषत



equal to that of the main member / मॏূ ऺदĀ कॕ बरॊबर

equal to or more than that of the main member / मॏূ ऺदĀ कॕ ऺमॊन यॊ अोधक

more than that of the main member / मॏূ ऺदĀ कॎ तॏलनॊ म७ अोधक

Correct Answer :­equal to or more than that of the main member / मॏূ ऺदĀ कॕ ऺमॊन यॊ अोधक 

49)

Question Stimulus :­

Civil

What is open cross staff used for setting out? / Āथॊोपत करनॕ कॕ ोलए उपयख़ग ोकयॊ जॊनॕ शॊलॊ खॏलॊ पॊर Āॊफ ভॊ
ऻॖ?

long offsets / लॠबॊ ऺमॊयख़जन 

short offsets / लघॏ ऺमॊयख़जन 

oblique offsets / परख़঴ ऺमॊयख़जन 

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­long offsets / लॠबॊ ऺमॊयख़जन  

50)

Question Stimulus :­

Civil

What does the horizontal acceleration due to earthquake results in? / भॐकॠ प कॕ पौरणॊम कॕ कॊरण ঴ॖोतज
ကरण ভॊ करतॊ ऻॖ?

hydrodynamic pressure / ঈशगोतकॎय दबॊश आरख़ोपत करतॊ ऻॖ 



hydrodynamic pressure / ঈशगोतकॎय दबॊश आरख़ोपत करतॊ ऻॖ 

inertia force into the body of the dam / बॊॠध कॕ षरॎर बल आघॐण१ उĀĀ करतॊ ऻॖ 

both [1] and [2] / दख़नख़ ॠ [1] और [2]

None of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­both [1] and [2] / दख़नख़ ॠ [1] और [2] 

51)

Question Stimulus :­

Civil

What is the durability of concrete is proportional to? / कॠ ॿॎट कॕ Āथॊोयက कॕ ोलए ভॊ आनॏपॊोतक ऻॖ?

sand content / रॕत ऺॊमঁॎ 

water cement ratio / पॊनॎ ऺॎम७ट अनॏपॊत

aggregate ratio / ोगĀॎ कॊ अनॏपॊत 

cement aggregate ratio / ोगĀॎ ऺॎम७ट कॊ अनॏपॊत

Correct Answer :­cement aggregate ratio / ोगĀॎ ऺॎम७ट कॊ अनॏपॊत 

52)

Question Stimulus :­

Civil

According to the maximum strain energy theory, yield locus is: / अोधकतम तनॊश ऊजॊ१ ोऺĀॊॠत कॕ अनॏऺॊर,
उĀॊदन ोबĀदॏ पथ ऻख़तॊ ऻॖ:



उĀॊदन ोबĀदॏ पथ ऻख़तॊ ऻॖ:

a rectangle / एक आयत

a circle / एक श॑Ā

a hexagon / एक हट्भॏज

an ellipse / एक दॎघ१ श॑Ā

Correct Answer :­an ellipse / एक दॎघ१ श॑Ā 

53)

Question Stimulus :­

Civil

What is the unit of intrinsic permeability? / आॠतौरक पॊरगĀतॊ कॎ इकॊई ভॊ ऻॖ? 

cm / ऺॕमॎ 

cm2 / ऺॕमॎ2

cm/day / ऺॕमॎ/ोदन 

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­cm2 / ऺॕमॎ2 

54)

Question Stimulus :­



Civil

The shift of the transition curve of radius 300 m and length 48 m is / 300 मॎटर ोআĀॊ और 48 मॎटर लॠबॊई
शॊलॕ पॊरगमन ( ॠऺॿमण) शॿ म७ पौरशत१न ऻख़गॊ 

0.32 m / 0.32 मॎटर

0.42 m / 0.42 मॎटर 

0.52 m / 0.52 मॎटर 

0.62 m  / 0.62 मॎटर 

Correct Answer :­0.32 m / 0.32 मॎटर 

55)

Question Stimulus :­

CANCELLED

Civil

What does the area under stress strain curve represent? / ঋोतबल ोशक॑ोत शॿ कॕ अॠतग१त ঴ॕআ ोकऺकॊ ঋोतोनोधက
करतॊ ऻॖ?

breaking strength of material / ऺॊमঁॎ कॎ तख़ीनॕ कॎ ष्ঢ 

toughness of material / ऺॊमঁॎ कॎ मजबॐतॎ 

hardness of material / ऺॊमঁॎ कॎ कठख़रतॊ

energy required to cause failure / ोशफलतॊ कॕ ोलए आशĀक ऊजॊ१ 

Correct Answer :­energy required to cause failure / ोशफलतॊ कॕ ोलए आशĀक ऊजॊ१  



56)

Question Stimulus :­

Civil

At what distance does the centre of solid hemisphere, with radius ‘r’, lie on the central radius?
/ ोআĀॊ 'आर', शॊलॕ ठख़ऺ गख़लॊĀ१ कॊ क७ ঈ क७ ঈॎय ोআĀॊ पर ोकतनॎ दॐ रॎ पर रऻतॊ ऻॖ,?

5r/4 from the plane base / तल कॕ आधॊर ऺॕ 5आर / 4

3r/8 from the plane base / तल आधॊर ऺॕ 3आर/ 8

8r/3 from the plane base / तल आधॊर ऺॕ 8आर/ 3

none of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­3r/8 from the plane base / तल आधॊर ऺॕ 3आर/ 8 

57)

Question Stimulus :­

Closed contours with higher value inside represents a / अॠदर उৡ मॊन कॕ ऺॊथ बॠद पौररॕखॊ ोकऺकॊ ঋोतोनोधက
करतॎ ऻॖ 

depression / अशनमन

hill / पऻॊीॎ

plain surface / ऺमतल ऺतऻ

None of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ



Correct Answer :­hill / पऻॊीॎ 

58)

Question Stimulus :­

CANCELLED

Civil

Which of the following beam is likely to have point of contra­flexure? / ोनĀोल्खत बॎम म७ ऺॕ ोकऺम७
कॗĀ३ ॊĀॕঞर ऻख़नॕ कॎ  ॠऺभॊशनॊ ऻॖ?

cantilever beam / भॏजख़Āख़लक बॎम 

simply supported beam / ऺॊमॊက ॺप ऺॕ ऺमोथ१त बॎम

beam with overhangs / छĀॕ कॕ ऺॊथ बॎम 

beam fixed at both ends / दख़नख़ ॠ ोऺरख़ ॠ पर ोनयत बॎम

Correct Answer :­beam with overhangs / छĀॕ कॕ ऺॊथ बॎम  

59)

Question Stimulus :­

Civil

In a statically indeterminate structure, the formation of first plastic hinge will reduce the number of
redundancy by how much? / एक ्Āथर ॹप ऺॕ अोनोĀत  ॠऺरचनॊ म७, पऻलॕ ကॊ्Āक कĀॊ कॕ ोनमॊ१ण कॕ पौरणॊमĀॺप
ोकतनॎ अोतौरঢतॊ कम ऻख़ जॊएगॎ?

5



1

2

3

Correct Answer :­1 

60)

Question Stimulus :­

Civil

How does the negative skin friction on a pile under vertical compressive load act? / ऊĀॊ१धर ऺĀॎीक
भॊर कॕ अधॎन एक ढॕर पर नकॊरॊĀक ကचॊ घह१ण कॖऺॕ कॊम करतॊ ऻॖ?

downward and increases the load carrying capacity of the pile / नॎचॕ कॎ ओर और ढॕर कॕ
भॊर शऻन करनॕ कॎ ঴मतॊ बु जॊतॎ ऻॖ

downward and reduces the load carrying capacity of the pile / नॎचॕ कॎ ओर और ढॕर कॕ भॊर
शऻन करनॕ कॎ ঴मतॊ कम ऻख़ जॊतॎ ऻॖ

upward and increases the load carrying capacity of the pile / ऊपर कॎ ओर और ढॕर कॕ भॊर
शऻन करनॕ कॎ ঴मतॊ बु जॊतॎ ऻॖ

downwards and maintains the same load carrying capacity of the pile / नॎचॕ कॎ ओर और ढॕर कॕ ऺमॊन भॊर शऻन करनॕ
कॎ ঴मतॊ कख़ बनॊए रखतॊ ऻॖ

Correct Answer :­downward and reduces the load carrying capacity of the pile / नॎचॕ कॎ ओर और ढॕर कॕ
भॊर शऻन करनॕ कॎ ঴मतॊ कम ऻख़ जॊतॎ ऻॖ 

61)



Question Stimulus :­

Civil

Contour interval on map sheet denotes / मॊनोचআ पআक पर पौररॕखॊ कॊ अॠतरॊल दषॊ१तॊ ऻॖ

Vertical distance of contour lines above the datum plane / आधॊर ऺतऻ ऺॕ ऊपर ऺमख़ৡ
रॕखॊओॠ कॎ ऊĀॊ१धर दॐ रॎ

Vertical distance between two successive contour lines / लगॊतॊर दख़ पौररॕखॊओॠ कॕ बॎच
ऊĀॊ१धर दॐ रॎ

slope distance between two successive contour lines / लगॊतॊर दख़ पौररॕखॊओॠ कॕ बॎच ढॊल कॎ
दॐ रॎ

horizontal distance between two successive contour lines / लगॊतॊर दख़ पौररॕखॊओॠ कॕ बॎच
঴ॖोतज दॐ रॎ

Correct Answer :­Vertical distance between two successive contour lines / लगॊतॊर दख़ पौररॕखॊओॠ कॕ बॎच
ऊĀॊ१धर दॐ रॎ 

62)

Question Stimulus :­

CANCELLED

Civil

What is the relation between moment and curvature at the plastic hinge? / ကॊ्Āक कॕ कĀॕ पर आघॐण१
और शॿतॊ कॕ बॎच ভॊ  ॠऺबॠध ऻॖ?

linear / रॖ्खक

not linear / अरॖ्खक



not linear / अरॖ्खक

curvature is constant for all moments / शॿतॊ ऺभॎ आघॐण१ पर ोनयत रऻॕगॎ 

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ 

63)

Question Stimulus :­

Civil

A simply supported beam of span ‘l’ carries a uniformly distributed load of ‘w’ kg/m. What is the
magnitude of concentrated load to be applied at the centre of this beam which would produce the
same deflection as the uniformly distributed load? / पॊट (Āॖन) 'एल' शॊलॊ एक ऺॊमॊက ऺमोथ१त बॎम 'डĀॐ'
ोकलख़ঁॊम / मॎटर कॕ ऺमॺप ोशतौरत भॊर कख़ ऺऻन करतॊ ऻॖ। इऺ बॎम कॕ क७ ঈ पर आरख़ोपत ऻख़नॕ शॊलॕ क७ ोঈत भॊर कॊ पौरमॊण ভॊ
ऻख़गॊ जख़ उतनॕ ऻॎ झॏकॊश कॊ उĀॊदन करॕगॊ ोजतनॊ ऺमॺप तरॎकॕ ऺॕ ोशतौरत ोकयॊ गयॊ भॊर करतॊ ऻॖ?

3wl/8 / 3 डĀॐएल / 8

wl/2 / डĀॐएल / 2

5wl/8 / 5 डĀॐएल / 8

7wl/8 / 7 डĀॐएल  / 8

Correct Answer :­5wl/8 / 5 डĀॐएल / 8 

64)

Question Stimulus :­

CANCELLED



Civil

Which source of water among the following is not a surface source? / ोनĀोल्खत म७ ऺॕ कग़न ऺॊ जल ঔख़त एक
ऺतऻॎ ঔख़त नऻॎ ॠ ऻॖ?

Springs / झरनॊ

Wells / कॏ आँ

Lakes / झॎल

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Lakes / झॎल 

65)

Question Stimulus :­

Civil

When a member is subjected to axial tensile load, what is the greatest normal stressequal to ? / जब
एक ऺदĀ अ঴ॎय तက भॊर कॕ अधॎन ऻख़तॊ ऻॖ, ऺबऺॕ बीॎ ऺॊमॊက तनॊश कॕ बरॊबर ভॊ ऻख़तॊ ऻॖ?

half the maximum shear stress / अोधकतम अपॹपण ঋोतबल कॊ आधॊ

maximum shear stress / अोधकतम अपॹपण ঋोतबल

twice the maximum shear stress / अोधकतम अपॹपण ঋोतबल कॊ दख़गॏनॊ 

None of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ 

Correct Answer :­twice the maximum shear stress / अोधकतम अपॹपण ঋोतबल कॊ दख़गॏनॊ  



66)

Question Stimulus :­

Civil

The percentage of the total sediment flow depositing in the reservoir, is called as / जलॊषय म७ जमॊ कॏ ल
तलछट ঋशॊऻ कॕ ঋोतषत कख़ ভॊ कऻॊ जॊतॊ ऻॖ?

capacity – inflow ratio / ঴मतॊ ­ ঋशॊऻ अनॏपॊत 

sediment co­efficient / तलछट गॏणॊॠक

trap efficiency / जॊल द঴तॊ

displacement efficiency / ोशĀथॊपन द঴तॊ

Correct Answer :­trap efficiency / जॊल द঴तॊ 

67)

Question Stimulus :­

Civil

What is the purpose of reinforcement in prestressed concrete? / पॐश१ ঋोतबलन ठख़ऺ म७ ঋबलन कॊ उĀॕĀ ভॊ ऻॖ

to provide adequate bond stress / पयॊ१Ā बॠध तनॊश उपलĀ करॊनॊ

to resist tensile stresses / तကतॊ ঋोतबल कॊ ोशरख़ध करनॊ

to impart initial compressive stress in concrete / ठख़ऺ म७ ঋॊरॠ ोभक ऺĀॎीक तनॊश ঋदॊन करनॊ

All of these / उपरख़ঢ ऺभॎ



Correct Answer :­to impart initial compressive stress in concrete / ठख़ऺ म७ ঋॊरॠ ोभक ऺĀॎीक तनॊश ঋदॊन
करनॊ 

68)

Question Stimulus :­

Civil

In the conventional prestressing, what happens to the diagonal tension in concrete? / पॊरॠपौरक पॐश१­
बलॊघॊोतत ्Āथोत म७, ठख़ऺ म७ ोशकण१ तनॊश कॊ ভॊ ऻख़तॊ ऻॖ?

increases  / बु जॊतॊ ऻॖ

decreases / कम ऻख़ जॊतॊ ऻॖ

does not change / पौरशत१न नऻॎ ॠ ऻख़तॊ ऻॖ 

may increase or decrease / बु यॊ कम ऻख़ ऺकतॊ ऻॖ

Correct Answer :­decreases / कम ऻख़ जॊतॊ ऻॖ 

69)

Question Stimulus :­

Civil

If the area of plane surface is ‘A’, ‘ ’ is the depth of centroid of the plane area below the liquid free
surface, then what is the hydrostatic pressure on a plane surface is equal to? / योद ऺतऻ कॊ ঴ॕআफल 'ए'
ऻॖ, और 'एच’ ‘ ’  तरल मॏঢ ऺतऻ कॕ नॎचॕ ऺतऻ ঴ॕআ कॕ कॕကक कॎ गऻरॊई ऻॖ, तब एक ऺतऻ पर जलĀथॖोतक दबॊश ोकऺकॕ बरॊबर ऻख़गॊ?



Correct Answer :­  

70)

Question Stimulus :­

Civil

The load on a lintel is assumed as uniformly distributed, if the masonry above it, is upto a height
of___________ / एक ऺरदल (चग़खट) पर भॊर कख़ ऺमॺप तरॎकॕ ऺॕ ोशतौरत ॽआ मॊनॊ जॊतॊ ऻॖ, तब जब इऺकॕ ऊपर ोचनॊई,
कॎ ऊॠ चॊई ___________तक ऻख़तॎ ऻॖ|

the effective span / ঋभॊशॎ पॊट तक 

1.25 times the effective span / ঋभॊशॎ पॊट कॕ 1.25 गॏनॕ तक 

1.4 times the effective span / ঋभॊशॎ पॊट कॕ 1.4 गॏनॕ तक

2.5 times the effective span / ঋभॊशॎ पॊट कॕ 2.5 गॏनॕ तक

Correct Answer :­1.25 times the effective span / ঋभॊशॎ पॊट कॕ 1.25 गॏनॕ तक  

71)

Question Stimulus :­

Civil

From the following options, what is the value of Coefficient of percolation? / ोनĀोल्खत ोशकĀख़ॠ म७ ऺॕ,
अॠतॡĀशण गॏणॊॠक कॊ मॊन ভॊ ऻॖ?



less than the coefficient of permeability / पॊरगĀतॊ कॕ गॏणॊॠक ऺॕ कम 

equal to the coefficient of permeability / पॊरगĀतॊ कॕ गॏणॊॠक कॕ बरॊबर

greater than the coefficient of permeability / पॊरगĀतॊ कॕ गॏणॊॠक ऺॕ अोधक

none of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­greater than the coefficient of permeability / पॊरगĀतॊ कॕ गॏणॊॠक ऺॕ अोधक 

72)

Question Stimulus :­

Civil

The coarse grained soils will lie on boundary classification, when they have which of the percentage
of fine /               ऺॎमॊ शग५करण पर मख़टॕ कणख़ॠ शॊलॎ ोमĀॎ ्Āथत ऻख़गॎ, जब उऺकॕ बॊरॎक कॊ ঋोतषत ऻख़गॊ?

1% to 10% / 1% ऺॕ 10%

10% to 20% / 10% ऺॕ 20%

5% to 12% / 5% ऺॕ 12%

12% to 20% / 12% ऺॕ 20%

Correct Answer :­5% to 12% / 5% ऺॕ 12% 

73)

Question Stimulus :­

Civil



In the Terzaghi’s theory of one dimensional consolidation, what is assumed? / तॕिॊ१घॎ एक आयॊमॎ ऺमॕकन
ोऺĀॊॠत म७, ভॊ मॊन ोलयॊ जॊतॊ ऻॖ?

soil particles are compressible / ोमĀॎ कॕ कण  ॠऺपॎदनॎय ऻ॰ 

soil is non­homogenous / ोमĀॎ ोशजॊतॎय ऻॖ 

coefficient of volume change is not constant / आयतन पौरशत१न कॊ गॏणॊॠक ्Āथर नऻॎ ॠ ऻॖ

compression is one­dimensional /  ॠऺपॎीन एक आयॊमॎय ऻॖ

Correct Answer :­compression is one­dimensional /  ॠऺपॎीन एक आयॊमॎय ऻॖ 

74)

Question Stimulus :­

Civil

What is the diameter of the column head supporting a flat slab? / ऺपॊट ကॖब कख़ ऺऻॊरॊ दॕनॕ शॊलॕ एक Āॠभ कॕ
ोऺरॕ कॊ ကॊऺ ভॊ ऻख़गॊ?

0.25 times the span / पॊट कॊ 0.25 गॏनॊ 

2.5 times the diameter of the column / Āॠभ कॕ ကॊऺ कॊ 2.5 गॏनॊ

4 times the diameter of the column / Āॠभ कॕ ကॊऺ कॊ 4 गॏनॊ 

0.5 times span / पॊट कॊ 0.5 गॏनॊ 

Correct Answer :­0.25 times the span / पॊट कॊ 0.25 गॏनॊ  

75)



Question Stimulus :­

Civil

What is the Young’s modulus of elasticity for a perfectly rigid body? / एक पॐण१ ठख़ऺ ोपॠड कॕ ोलए ঋĀॊĀथतॊ कॊ
यॠग मॊपॊॠक ভॊ ऻख़गॊ?

zero / षॐက

unity / इकॊई

infinity / अनĀ

None of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­infinity / अनĀ 

76)

Question Stimulus :­

Civil

In the design of prestressed concrete structures, which of the following limit states will come
under the limit states of serviceability? / पॐश१­बलॊघॊोतत ठख़ऺ  ॠऺरचनॊओॠ कॕ ोडजॊइन म७, ोनĀोल्खत म७ कग़न­ऺॎ ऺॎोमत
अशĀथॊ उपयख़ोगतॊ कॕ ऺॎोमत अशĀथॊ कॕ अॠतग१त  आतॎ ऻॖ?

Flexure and cracking / मख़ी और दरॊर 

Deflection and cracking / ोश঴ॕपण और दरॊर 

Shear, deflection and cracking / अपॺपण, ोश঴ॕपन और दरॊर 

Shear and deflection / अपॺपण और ोश঴ॕपण



Correct Answer :­Deflection and cracking / ोश঴ॕपण और दरॊर  

77)

Question Stimulus :­

Civil

What happens when Lime is added to water or waste water? / ভॊ ऻख़तॊ ऻॖ जब चॐनॕ कख़ पॊनॎ यॊ गॠदॕ पॊनॎ म७
ोमलॊयॊ जॊतॊ ऻॖ?

destabilise colloidal oil and organic emulsion suspensions / कख़लॊइडयन तॕल और कॊब१ोनक
पॊयऺ ोनलॠबन कख़ अ्Āथर करतॊ ऻॖ 

assist precipitation of metals as hydroxides by lowering their pH / उनकॎ पॎएच कम करकॕ
ऻॊइड३ ॗসॊइड कॕ ॺप म७ धॊतॏओॠ कॕ अश঴ॕपण म७ ऺऻॊयतॊ करतॊ ऻॖ 

remove calcium hardness / कॖ्Āषयम कॎ कठख़रतॊ कख़ दॐ र करतॊ ऻॖ

convert calcium carbonate to calcium bicarbonate / कॖ्Āषयम कॊबॳनॕट कख़ कॖ्Āषयम
बॊइकॊरबख़नॕट म७ पौरशोत१त करतॊ ऻॖ

Correct Answer :­destabilise colloidal oil and organic emulsion suspensions / कख़लॊइडयन तॕल और
कॊब१ोनक पॊयऺ ोनलॠबन कख़ अ्Āथर करतॊ ऻॖ  

78)

Question Stimulus :­

Civil

Which of the following statements is correct? / ोनĀोल्खत कथनख़ ॠ म७ ऺॕ कग़न ऺऻॎ ऻॖ? 

A. The only water which can be obtained from the aquifer is that which will flow by gravity / क. जलभ॑त

ऻॖ



ऺॕ कॕशल शऻॎ पॊनॎ ঋॊĀ ोकयॊ जॊ ऺकतॊ ऻॖ जख़ गॏॺကॊकह१ण ष्ঢ ऺॕ ঋशॊोऻत ऻख़तॊ ऻॖ

  B. A high porosity indicates that an aquifer will yield large volumes of water to well / ख. एक उৡ ऺरॠউतॊ
इऺ तĀ कॊ  ॠऺकॕत करतॊ ऻॖ ोक एक जलभ॑त कॏ एॠ  म७ ोशषॊल पौरमॊण म७ पॊनॎ उĀॊोदत करॕगॊ

 C. Aquifuge is an impermeable formation which neither contains water nor transmits any water /
ग. जलरख़धॎ Āर एक अपॊरगĀ ोनमॊ१ण ोजऺम७ न तख़ कख़ई पॊनॎ उप्Āथत रऻतॊ ऻॖ और न कख़ई पॊनॎ  ॠऺचौरत ऻख़तॊ ऻॖ

 

Only A / कॕशल क

Only B / कॕशल ख

Only C / कॕशल ग

A, B and C / क, ख और ग

Correct Answer :­A, B and C / क, ख और ग 

79)

Question Stimulus :­

Civil

A channel of bed slope 0.0001 carries a discharge of 10 m3/sec, when the depth of flow is 1.2 m.
What is the discharge carried by this channel at the same depth of flow, if the slope is increased to
0.0009? / 0.0001 ोबĀर ढलॊन शॊलॊ एक चॖनल, 10 मॎटर3/ ऺॕकॠ ड ऺॕ पॊनॎ मॏঢ करतॊ ऻॖ, जब ঋशॊऻ कॎ गऻरॊई 1.2 मॎटर
ऻख़तॎ ऻॖ। योद ढलॊन म७ 0.0009 कॎ श्॑Ā कर दॎ जॊतॎ ऻॖ, तख़ उऺॎ गऻरॊई पर इऺ चॖनल ကॊरॊ ঋशॊऻ कॊ पौरमॊण ोकतनॊ ऻख़गॊ?

90 m3/sec / 90 मॎटर3/ ऺॕकॠ ड 

30 m3/sec / 30 मॎटर3/ ऺॕकॠ ड 



60 m3/sec / 60 मॎटर3/ ऺॕकॠ ड 

15 m3/sec / 15 मॎटर3/ ऺॕकॠ ड

Correct Answer :­30 m3/sec / 30 मॎटर3/ ऺॕकॠ ड  

80)

Question Stimulus :­

Civil

What is a beam curved in plan designed from? /  _______ऺॕ ोडजॊयन ोकए जॊनॕ पर ऺमतल पर बॎम म७ मख़ी
ोकतनॊ ऻख़गॊ?

bending moment and shear / बॠकन आघॐण१ और अपॹपण 

bending moment and torsion / बॠकन आघॐण१ और ोशमख़टन

shear and torsion / अपॹपण और ोशमख़टन

bending moment, shear and torsion / बॠकन आघॐण१, अपॹपण और ोशमख़टन

Correct Answer :­bending moment, shear and torsion / बॠकन आघॐण१, अपॹपण और ोशमख़टन 

81)

Question Stimulus :­

Civil

If the depth of the section of an upper column is much smaller than the lower column, then: / योद
एक Āॠभ कॕ ऊपरॎ खॠड कॎ गऻरॊई छख़टॕ Āॠभ कॎ तॏलनॊ म७ कॊफॎ छख़टॎ ऻख़तॎ ऻॖ,  तब:

filler plates are provided with column spice / ोफलर ကॕट Āॠभ जख़ी पर उपलĀ करॊयॊ जॊतॊ ऻॖ



filler plates are provided with column spice / ोफलर ကॕट Āॠभ जख़ी पर उपलĀ करॊयॊ जॊतॊ ऻॖ

bearing plates are provided with column spice / बॕअौरॠग ကॕट Āॠभ जख़ी पर उपलĀ करॊयॊ
जॊतॊ ऻॖ

neither filler nor bearing plates are provided with column spice / न तख़ ोफलर ကॕट और न
बॕअौरॠग ကॕट Āॠभ जख़ी पर उपलĀ करॊयॊ जॊतॊ ऻॖ

filler and bearing plates are provided with column spice / ोफलर ကॕट और बॕअौरॠग ကॕट Āॠभ
जख़ी पर उपलĀ करॊयॊ जॊतॊ ऻॖ

Correct Answer :­filler and bearing plates are provided with column spice / ोफलर ကॕट और बॕअौरॠग ကॕट
Āॠभ जख़ी पर उपलĀ करॊयॊ जॊतॊ ऻॖ 

82)

Question Stimulus :­

Civil

What causes the corrosion in concrete sewers? / कॠ ॿॎट कॎ नॊलॎ म७ जॠग लगनॕ कॊ ভॊ कॊरण ऻॖ?

septic conditions / ऺॕोĀक कॎ ्Āथोत

dissolved oxygen / घॏलॊ ॽआ ऑসॎजन

chlorine / মख़रॎन

nitrogen / नॊइट३ ख़जन

Correct Answer :­septic conditions / ऺॕोĀक कॎ ्Āथोत 

83)



Question Stimulus :­

Civil

What is the value of allowable compressive stress under concentrated load in brick masonry as
compared to uniform load conditions? / ईॠट कॎ ोचनॊई म७ ऺमॺप भॊर कॎ ्Āथोतयख़ ॠ कॎ तॏलनॊ म७ एक ऺक७ ोঈत भॊर कॕ
अधॎन ऺमॺप भॊर कॕ ोलए  ॠऺपॎीक ঋोतबल कॊ मॊन ভॊ ऻख़गॊ?

same as / ऺमॊन

less than / कम

25% more than / 25% अोधक

50% more than / 50% अोधक

Correct Answer :­50% more than / 50% अोधक 

84)

Question Stimulus :­

Civil

The stress, which is responsible for retaining water in a capillary tube above the free water surface
of the water body in which the capillary tube is inserted, is called the / तनॊश,  जख़ जल ोनकॊय म७ ঋोशĀ करॊए
गए कॕषनलॎ म७ मॏঢ जल ऺतऻ ऺॕ ऊपर जल कख़ बनॊए रखनॕ कॕ ोलए उĀरदॊयॎ ऻॖ, उऺॕ ভॊ कऻॊ जॊतॊ ऻॖ

Capillary compression / कॕोषकॎय  ॠऺपॎीन 

Capillary tension / कॕोषकॎय तनॊश

Capillary pore pressure / कॕोषकॎय रॠউ दबॊश 

None of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ



None of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­Capillary tension / कॕोषकॎय तनॊश 

85)

Question Stimulus :­

Civil

What is the best pH range suited for most of bacteria? / अोधकॊॠष जॎशॊणॏओॠ कॕ ोलए ऺश१঒ॕĀ उपयॏঢ पॎएच ऺॎमॊ
ভॊ ऻॖ?

1 to 2 / 1 ऺॕ 2

6.5 ­ 7 / 6.5 ऺॕ 7

7 / 7

7 to 10 / 7 ऺॕ 10

Correct Answer :­6.5 ­ 7 / 6.5 ऺॕ 7 

86)

Question Stimulus :­

Civil

Thixotropy of soils refers to___________ / ोमĀॎ कॎ ोथসख़ट३ ख़Ā __________कख़  ॠऺदोभ१त करतॊ ऻॖ| 

gain of strength of soil with passage of time after it has been remoulded / ऺमय बॎतनॕ
कॕ ऺॊथ ोमĀॎ कॎ ष्ঢ म७ श्॑Ā जब इऺॕ तॖयॊर ोकयॊ जॊतॊ ऻॖ

loss of strength of soil with passage of time after it has been remoulded / ऺमय बॎतनॕ
कॕ ऺॊथ ोमĀॎ कॎ ष्ঢ म७ कमॎ जब इऺॕ तॖयॊर ोकयॊ जॊतॊ ऻॖ



कॕ ऺॊथ ोमĀॎ कॎ ष्ঢ म७ कमॎ जब इऺॕ तॖयॊर ोकयॊ जॊतॊ ऻॖ

thickening of soil particles with water / पॊनॎ डॊलनॕ कॕ ऺॊथ ोमĀॎ कॕ कणख़ॠ कॊ मख़टॊ ऻख़तॊ जॊनॊ 

none of these / उपरख़ঢ म७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­gain of strength of soil with passage of time after it has been remoulded / ऺमय
बॎतनॕ कॕ ऺॊथ ोमĀॎ कॎ ष्ঢ म७ श्॑Ā जब इऺॕ तॖयॊर ोकयॊ जॊतॊ ऻॖ 

87)

Question Stimulus :­

Civil

If the pH value of sewage is 7, it is a_____ / योद ऺॎशॕज कॊ पॎएच मॊन 7 ऻॖ, तख़ यऻ _____ ऻॖ। 

acidic / अĀॎय

alkaline / ঴ॊरॎय

neutral / उदॊऺॎन

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­neutral / उदॊऺॎन 

88)

Question Stimulus :­

Civil

Surface tension of water / पॊनॎ कॊ प॑Ā तनॊश

increases with decrease in temperature / तॊपमॊन म७ कमॎ कॕ ऺॊथ बु जॊतॊ ऻॖ



increases with decrease in temperature / तॊपमॊन म७ कमॎ कॕ ऺॊथ बु जॊतॊ ऻॖ

decreases with decrease in temperature / तॊपमॊन म७ कमॎ कॕ ऺॊथ कम ऻख़ जॊतॊ ऻॖ

independent of temperature / तॊपमॊन ऺॕ Āतॠআ रऻतॊ ऻॖ 

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ

Correct Answer :­increases with decrease in temperature / तॊपमॊन म७ कमॎ कॕ ऺॊथ बु जॊतॊ ऻॖ 

89)

Question Stimulus :­

Civil

A solid circular cylinder and a  hollow circular cylinder have an internal diameter ‘D’ and have the
same cross sectional area. Then what is the ratio of the moment of inertia of the hollow cylinder to
that of solid cylinder? /  एक ठख़ऺ श॑Āॎय बॕलन और एक खख़खलॕ श॑Āॎय बॕलन कॊ आॠतौरक ကॊऺ 'डॎ' ऻॖ और उनकॊ पॊर
अनॏभॊगॎय ঴ॕআ ऺमॊन ऻॖ। तब ठख़ऺ बॕलन पर खख़खलॕ बॕलन कॕ जीက आघॐण१ कॊ अनॏपॊत ोकतनॊ ऻख़गॊ?

2

3

4

8

Correct Answer :­3 

90)

Question Stimulus :­



CANCELLED

Civil

Placing of concrete should preferably be done at a temperature of / कॠ ॿॎट रखनॕ कॊ कॊय१ अोधमॊनतॡ ोकऺ
तॊपमॊन पर ोकयॊ जॊनॊ चॊोऻए

100C / 100 ऺॎ

200C / 200 ऺॎ

 / 

320C / 320 ऺॎ

Correct Answer :­320C / 320 ऺॎ 

91)

Question Stimulus :­

Civil

When is a sprinkler irrigation system suitable? / एक फĀॊरॊ ो ॠऺचॊई ঋणॊलॎ कब उपयॏঢ ऻख़तॎ  ऻॖ?

the land gradient is steep and the soil is easily erodible / जब भॐोम कॎ ढॊल खीॎ ऻख़तॎ ऻॖ और
ोमĀॎ आऺॊनॎ ऺॕ ঴रण कॊ ोषकॊर ऻख़ ऺकतॊ ऻॖ

the soil is having low permeability / जब ोमĀॎ कॎ पॊरगĀतॊ कम ऻख़तॎ ऻॖ

the water table is low / जब जलĀर ोनĀ ऻख़तॊ ऻॖ

the crops to be grown have deep roots / जब उगॊनॕ शॊलॕ फऺलख़ॠ कॎ जीॕ गऻरॊई तक जॊतॎ ऻॖ



Correct Answer :­the land gradient is steep and the soil is easily erodible / जब भॐोम कॎ ढॊल खीॎ ऻख़तॎ ऻॖ
और ोमĀॎ आऺॊनॎ ऺॕ ঴रण कॊ ोषकॊर ऻख़ ऺकतॊ ऻॖ 

92)

Question Stimulus :­

Civil

What is the appropriate percentage of water in sewage? / मल म७ पॊनॎ कॊ उोचत ঋोतषत ভॊ ऻॖ?

90% / 90%

89% / 89%

99.9% / 99.9%

59.99% / 59.99%

Correct Answer :­99.9% / 99.9% 

93)

Question Stimulus :­

Civil

As compared to gravity dam, what do earthen dams require? / गॏॹကॊकह१ण बॊॠध कॎ तॏलनॊ म७, ोमĀॎ कॕ बॊॠधख़ ॠ कॕ
ोलए ोकऺकॎ आशĀकतॊ ऻख़तॎ ऻॖ?

sound rock foundation / पĀर कॕ मजबॐत नॎ ॠश

less skilled labour / कम कॏ षल ঒म

skilled labour / कॏ षल ঒म



more cost / अोधक लॊगत

Correct Answer :­less skilled labour / कम कॏ षल ঒म 

94)

Question Stimulus :­

Civil

In a tension splice the number of rivets carrying calculated shear stress through a packing greater
than 6 mm thick, is to be increased by 2.5% for each _______ thickness of packing. / एक तनॊश खॠड म७,
6 ोममॎ ऺॕ अोधक मख़टॎ एक पॖोकॠ ग कॕ मॊĀम ऺॕ पौरकोलत अपॹपण ঋोतबल कख़ लॕ जॊनॕ कॕ ोलए, ঋĀॕक _______ पॖोकॠ ग कॎ मख़टॊई
कॕ ोलए कॎलक कॎ  ॠऺূॊ म७ 2.5% कॎ श्॑Ā कॎ जॊनॎ चॊोऻए।

1 mm / 1 ोममॎ   

1.5 mm / 1.5 ोममॎ

2 mm /  2 ोममॎ

2.5 mm / 2.5 ोममॎ

Correct Answer :­2 mm /  2 ोममॎ 

95)

Question Stimulus :­

Civil

A turbine runs at 500 r.p.m. when working under a head of 16 metres. If the head falls to 4 metres,
then what is the new speed in r.p.m.? / 16 मॎटर कॕ ऻॕड कॕ नॎचॕ कॊय१ करतॕ ॽए एक टरबॊइन 500 आर.पॎ.एम पर
पौरचॊोलत ऻख़तॊ ऻॖ। योद ऻॕड 4 मॎटर कॎ दॐ रॎ पर ोगरतॊ ऻॖ, तख़ आर.पॎ.एम म७ नई गोत  ভॊ ऻख़गॎ?



130

205

250

450

Correct Answer :­250 

96)

Question Stimulus :­

Civil

“Economical height of a dam” is that height, for which the / "एक तटबॠध कॎ ोकफॊयतॎ ऊँचॊई" शऻ ऊँचॊई ऻॖ,
ोजऺकॕ ोलए 

cost per unit of storage is minimum / भॠडॊरण कॎ ঋोत इकॊई लॊगत ကॐनतम ऻख़तॎ ऻॖ 

benefit cost ratio is maximum / लॊभ लॊगत कॊ अनॏपॊत अोधकतम ऻख़तॊ ऻॖ

net benefits are maximum / षॏĀ लॊभ अोधकतम ऻख़तॊ ऻॖ 

None of these / इनम७ ऺॕ कख़ई नऻॎ ॠ ऻ॰

Correct Answer :­cost per unit of storage is minimum / भॠडॊरण कॎ ঋोत इकॊई लॊगत ကॐनतम ऻख़तॎ ऻॖ  

97)

Question Stimulus :­

Civil

What happens in a ‘Bank Storage’ in a dam reservoir? / एक बॊॠध जलॊषय म७ एक 'तट  ॠऺचय' म७ ভॊ ऻख़तॊ ऻॖ?



What happens in a ‘Bank Storage’ in a dam reservoir? / एक बॊॠध जलॊषय म७ एक 'तट  ॠऺचय' म७ ভॊ ऻख़तॊ ऻॖ?

increases the computed reservoir capacity / जलॊषय कॎ अोभकलन ঴मतॊ बु जॊतॎ ऻॖ

decreases the computed reservoir capacity / जलॊषय कॎ अोभकलन ঴मतॊ कम ऻख़ जॊतॎ ऻॖ

sometimes increases and sometimes decreases the computed reservoir capacity
/ जलॊषय कॎ अोभकलन ঴मतॊ कभॎ­कभॎ बु जॊतॎ ऻॖ और कभॎ­कभॎ कम ऻख़ जॊतॎ ऻॖ

has no effect on the computed reservoir capacity / जलॊषय कॎ अोभकलन ঴मतॊ पर कख़ई ঋभॊश
नऻॎ ॠ पीतॊ ऻॖ

Correct Answer :­increases the computed reservoir capacity / जलॊषय कॎ अोभकलन ঴मतॊ बु जॊतॎ ऻॖ 

98)

Question Stimulus :­

Civil

Name the type of surveying in which the curvature of the earth is taken into account. /  उऺ ऺश८঴ण कॊ
नॊम बतॊएॠ  ोजऺम७ प॑Āॎ कॎ शॿतॊ कख़ Āॊन म७ रखॊ जॊतॊ ऻॖ ।

Geodetic surveying / भॐगोणतॎय ऺश८঴ण

Plane surveying / ऺमतल ऺश८঴ण

Preliminary surveying / ঋॊरॠ ोभक ऺश८঴ण 

Topographical surveying / Āथलॊक॑ोतक ऺश८঴ण

Correct Answer :­Geodetic surveying / भॐगोणतॎय ऺश८঴ण 

99)



Question Stimulus :­

Civil

A column has effective length L, when both ends are fixed. What will be the new effective length if
one end become hinged? / जब एक Āॠभ कॕ दख़नख़ ॠ ोऺरख़ ॠ कख़ ठॎक कर ोदयॊ जॊतॊ ऻॖ तख़ उनकॎ ঋभॊशॎ लॠबॊई एल ऻख़तॎ ऻॖ। नई
ঋभॊशॎ लॠबॊई ভॊ ऻख़गॎ योद एक ोऺरॕ कख़ कĀॕ पर अटकॊ ोदयॊ जॊतॊ ऻॖ?

L / एल

0.5L / 0.5 एल

1.41L / 1.41 एल

2L / 2 एल

Correct Answer :­1.41L / 1.41 एल 

100)

Question Stimulus :­

Civil

In case of two way slab, the limiting deflection of the slab is / दख़­तरूॊ ကॖब कॎ ्Āथोत म७, ကॖब कॕ नॎचॕ कॊ
ऺॎोमत झॏकॊश  ऻख़तॊ  ऻॖ 

primarily a function of the long span / मॏূ ॺप ऺॕ लॠबॕ पॊट (Āॖन) कॊ कॊय१ 

primarily a function of the short span / मॏূ ॺप ऺॕ छख़टॕ पॊट (Āॖन)  कॊ कॊय१

independent of long or short span / लॠबॕ यॊ छख़टॕ पॊट (Āॖन) ऺॕ Āतॠআ 

dependent on both long and short spans / लॠबॕ और छख़टॕ पॊट (Āॖन) दख़नख़ ॠ पर ोनभ१र करतॊ ऻॖ



Correct Answer :­primarily a function of the short span / मॏূ ॺप ऺॕ छख़टॕ पॊट (Āॖन)  कॊ कॊय१ 


